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Introduction

Boundary integral formulations are well known in all areas of science and technology and
leads to highly efficient numerical algorithms for solving partial differential equations.
Their utility are in particular evident for scattering of waves from objects located in an
unbounded space. For these situations, one whole space dimension is taken out of the
problem by reducing the solution of the original PDEs to the problem of an integral
equation located on the boundaries of the scattering objects.

However, this reduction rely on the use of Green’s functions and is therefore only
possible if the PDEs are linear. For computational reasons one is also usually restricted
to situations where the Green’s functions are given by explicit formulas, and this rules out
most situations where the materials are inhomogeneous. Since many problems involves
inhomogeneous materials with a nonlinear response, boundary integral methods have
appeared to be of limited utility in computational science. Adding to this the somewhat
advanced mathematical machinery that is needed to formulate PDEs in terms of boundary
integral equations, it is perhaps not hard to understand why the method is not all that
popular.

Domain-based methods, like the finite difference method and the finite element method,
on the other hand, appears to be of much wider utility. Their simple formulation and
wide applicability to many types of PDEs, both linear and nonlinear, has made them
extremely popular in the scientific computing community. In the context of scattering
problems they do, however, have problems of their own to solve. These problems are of
two quite distinct types.

The first type of problem is related to the fact that, frequently, the scattering objects
represents abrupt changes in material properties as compared to the properties of the
surrounding homogeneous space. This abrupt change leads to PDEs with discontinuous or
non-linear coefficients. Such features are hard to represent accurately using finite element
or finite difference methods. The favoured approach is to introduce multiple, interlinked
grids, that are adjusted so that they conform to the boundaries of the scattering objects.
Generating these grids, that are tailored to the possibly complex shape of the scattering
objects, linking them together in a correct way and designing them in such a way that
the resulting numerical algorithm is accurate and stable, is a whole separate science with
its own journals and conferences. The approach has been developed over many years and
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in general works quite well, but it certainly adds to the implementational complexity of
these methods.

The second type of the problem is related to the fact that one can’t grid the domain
where the scattering objects are located for the simple reason that in almost all situations
of interest this domain is unbounded. This problem is of course well known in the research
community and the way it is resolved is to grid a computational box that is large enough
to contain all scattering objects of interest. This can easily become a very large domain,
leading to a very large number of degrees of freedom in the numerical algorithm. However,
most of the time, the part of the numerical algorithm linked to this domain has a simple
structure for which it is possible to design very fast implementations if the structure is
taken into account. However, the introduction of the finite computational box in what
is really a unbounded domain leads to the box in such a way that it is fully transparent
to waves. This is not an easy thing to achieve, most approaches one can think of will
in one way or another introduce an inhomogeneity that will partly reflect waves hitting
the boundary. This problem was first solved in a fully satisfactory manner for the case of
scattering of electromagnetic waves. The domain based method of choice for electromag-
netic waves is the Finite Difference Time Domain method(FDTD) [4], [10], [11]. This is,
as the name indicate, the finite difference method, but a method that has been designed
to take into account the very special structure of Maxwell’s equation. The removal of
reflections from the the finite computational box was achieved by the introduction of a
Perfectly Matched Layer(PML) [2], [5]. This amounts to adding a narrow layer of a spe-
cially constructed artificial material to the outside the computational box. The PML is
however only perfectly transparent to wave propagation if the grid has infinite resolution.
For any finite grid there is still a small, but nonzero, reflection from the boundary of the
computational box. This can be reduced by making the PML thicker, but this leads to
more degrees of freedom and thus an increasing computational load. However, overall
PML works well, and certainly much better than anything that came before it. There is
no doubt that the introduction of PML was a breakthrough.

The use of PML was closely linked to the special structure of Maxwell’s equations.
However, it was soon realized that the same effect could be achieved by complexifying the
physical space outside the computational box and analytic continuing the fields into this
complex spatial domain. Significantly, this realization made the benefits of a reflectionless
boundary condition available to all kinds of scattering problems. However, the use of
these reflexionless boundary conditions certainly leads to an increased computational load,
increased implementational complexity and also to numerical stability issues that needs
to be resolved. It is at this point worth recalling that the boundary of the computational
box is not part of the original physical problem and that all the added implementational
complexity and computational cost is spent trying to make it invisible after choice of a
domain method forced us to put it there in first place.

What we propose in this paper is to only apply the domain-based method inside each
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scattering object. Firstly, this will reduce the size of the computational grid enormously
since we now only need to grid the inside of the scattering objects. Secondly, our ap-
proach makes it possible to use different computational grids for each scattering objects
that is tailored to their geometric structure, without having to worry about the inherent
complexity caused by letting the different grids meet up. Thirdly, it makes the introduc-
tion of a large computational box, with its artificial boundary, redundant. In this way
the computational load is reduced by a large amount and we rid of the implementational
complexity and instabilities associated with the boundary of the computational box.

However, the domain based method resrticted to the inside of each scattering object
requires field values on the boundaries of the scattering object in order to be able to prop-
agate the fields forward in time. These boundary values will be supplied by a boundary
integral method derived from a space-time integral formulation of the PDEs one are seek-
ing to solve. This boundary integral method will take into account all the scattering and
rescattering of the solution to the PDEs in the unbounded domain outside the scattering
objects. Since the boundary integral method takes the radiation condition at infinity into
account explicitly, no finite computational box with its artificial boundary is needed.

This kind of idea for solving scattering problems was to out knowledge first proposed
in 1972 by Pattanayak and Wolf [6] for the case of electromagnetic waves. They discussed
their ideas in the context of a generalization of the Ewald-Oseen optical extinction theorem
and we will, because of this, refer to our method as the Ewald-Oseen Scattering(EOS)
formulation.

However, the paper of Pattanayak and Wolf only discussed stationary linear scattering
of electromagnetic waves and they therefore did their integral formulation in frequency
space. This approach is not the right one when one is interested in transient scattering
from objects that are in general inhomogeneous and have a possibly nonlinear response.
What is needed for our approach is a space-time integral formulation of the PDEs of
interest.

In the first chapter of this work we implement our EOS formulation for two different
1D scattering problems. Both cases can be thought of as toy models for the scattering of
electromagnetic waves. This should not be taken to mean that only models that in some
way is related to electromagnetic scattering can be subject to our approach, it merely
reflects our particular interest in electromagnetic scattering. The way we see it, there
is only one essential requirement for our method to be applicable, and that is that it
must be possible to derive an explicit integral formulation for the PDEs of interest. This
means that at some point one needs to find the explicit expression for a Green’s function
for some differential operator related to our PDEs. In general, it is difficult to find
explicit expressions for Green’s function belonging to nontrivial differential operators.
However, the Green’s function needed for our EOS formulation will always be of the
infinite, homogeneous space type, and explicit expressions for such Green’s functions can
frequently be found.
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The goal of this master thesis is twofold:

1. Firstly, the candidate is going to create a numerical implementation of the EOS
formulation for the two toy models. For both models, the numerical implementations
should be tested using a method known as artificial sources. This method has
probably been around for a long time but apart from an application to the Navier-
Stokes equations [3] we are not aware of any published work using this method. The
method is based on the simple observation that you add arbitrary source terms to
any system of PDEs the any function is a solution for some choice of the source.
Adding a source term typically only introduce a trivial modification to whichever
numerical method used to solve the PDEs. This essentially means that for any PDE
of interest we can design particular functions to test various critical aspects of the
numerical method related to numerical stability and accuracy.

2. Secondly, the candidate will develop the EOS formulation for the following system
of PDEs

e = Oy +i0,) + f(x,y,t)
37577/1 = V(aySD - Zax(p) + g(l’, Y, t)

implement the EOS formulation numerically and test the implementation using an
artificial source test.

So in the first chapter of this work we will discuss two 1D-space toy models. We will
determine the EOS formulation for both of toy models. For the first model we will try
to solve test problem by several numerical methods: Central Finite Difference method,
Modified Euler method, Lax-Wendroff method and by ODE solver which is in Python
scientific library. After choosing more accurate and stable method we will use it to solve
both toy models.

In the second part of this work we are going to only discuss EOS formulation for the
2D scattering problem.

All calculations were made using programming language Python3, a computer alge-
bra system Wolfram Mathematica and using Intel(R) Atom(TM) CPU N570 clocked at
1.66GHz.



Chapter 1

Toy models

1.1 The first toy model

Our first toy model is

Pt = VPx +] + js

Pt = —Ja (1.1)

Je = (a—=Bp)p —7J
Where ¢ = ¢(x,t) — "electric field”, j = j(z,t) — "current density”, p = p(z,t) — "charge
density”. These quantities are analogues for the corresponding quantities in the Maxwell
equations. We observe that the second equation in the model (1.1) is a 1D version of the
equation of continuity from electromagnetics. The charge density and current density will
be assumed to be confined to an interval [ag, a;] on the real axis whereas ¢ is a continuous
field defined on the whole real axis. The interval [ag,a;] is the analogue of a compact
scattering object in the electromagnetic situation. The function js(z,t) is a fixed source,
that has its support in a compact set in the interval x > a;. The parameters o, 5 and
are constants and the function

¢y otherwise

{01 x € |ag, a4]
’U g

is the propagation speed for the field.
Graphical representation of (1.1) is shown on Figure 1.1

1.1.1 The EOS formulation

In order to derive the EOS formulation for the model (1.1), we will firstly need a space-
time integral identity involving the operator

Lzat—C8x

7
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Figure 1.1: Graphical representation of the first toy model. The blue ellipse represents
the source jgs(x,t) outside the domain bounded by = = ag and = = a;.

where ¢ is some constant.

/ drdtLpy = da dtL(p — cpy)t
SxT SxT

= / dx dtLp) — dx dtcp,
SxT SxT

t1
- / datpg| — / dt )
S to T

x1
= / dz dtp (¢ — cpt)y)
xo SxT
So we have integral identity

/S . dz dt {LW—@LW} = /S dzyp z — /T dtp

where LT = —0; + ¢d, is the formal adjoin of L and where S = (¢, z;) and T = (to,t;)
are open space and time intervals.

The second item we need in order to derive the EOS formulation for the model (1.1),
is the advanced Green’s function for the operator LT. This is a function G = G(x,t,2',t')
which is solution to the equation

1

(1.2)

Zo

LIG(x,t, 2/, 1)) = 6(t — )6 (x — 2) (1.3)

and that vanish when t > t'.

We use the one dimensional Fourier transform in x to solve the initial value problem
for G(x,t,2’,t'). Let the Fourier transform of G(z,t,2’,t") be denoted by g(\,¢,2',t").
Then

1 +oo -
g\t 2 ) = E/ dze™G(z,t, 2’ 1) (1.4)
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1 .
To obtain an equation for g(\, ¢, 2, ") we multiply (1.4) by \/2_6le and integrate from
T

—o0 to +o00. Using
1 +o0 e p(n)
— dee™ fU"(z) = —(A)"F(\), n=1,2.

we obtain the equation.

dg(\, t, 2’ 1) 1 e
B ASS AL e R A Y (O I :—/ dre?* Gz, t, 2, t)o(t — t)o(x — 2’
st t) = [ e Gt )3t~ )0~ o)

ot ; (1.5)
iz’ /
= ——e"o(t—t)
V2T
Also g(\, t,2',t") satisfies the condition g(\,0,2',t) = 0.
(6—1'0)\159()\ ¢ $l t/)) — _ 1 ei)\z’e—ic)\té‘(t _ t/)

PR ? . \/ﬁ

L e —iexr /
=———e"e "Nt —t
o (t—1t)
]_ . / N
g()\, t, x/) t/) _ _ezc)\(t—t )ezA:p @(t/ _ t)
s
So
- 1 e Y !’y
G($,t,$,t):_ dXe™ xg(/\7t7x7t>
\V 27T /—oo
1 /+OO d\ —iAz 1 icA(t—t) i)\x’e(tl t)
= — e —€ e -
V21 J o V2m (1.6)

1 e Nz'—z) JicA(t—t')
— 9t —t A\eMN@ =) gicA(t—
o ( )/_ e e

o

=0t —t)o(z' —x+c(t' — 1))

where 6 is the Heaviside step function with 6(x) = 1 for x > 0 and zero otherwise.
We will now apply the integral identity (1.2) to each space interval (—oo, ay), (ag, a;)
and (ai, +00). For the function ¢ we will substitute the advanced Green’s function (1.6)

and ¢ will be the solution to the equation
Py = Vpp + 5+ Js (1.7)

with vanishing initial condition ¢(z,t;) = 0. We thus have a problem where all solutions
are purely source-generated.
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First interval (—o0, ag) we let 1) be the Green’s function
Y = Gyx, t, 2/, 1) =0t —t)d(x' — x + (' — 1)) (1.8)

According to the already described properties of j and jg, the function ¢ = ¢ is in the
interval (—o0, ag) a solution to the equation

P2, = VP2,
i (1.9)
LQDQ =0

Inserting (1.8), (1.9) and S = (—00,ap) into the integral identity (1.2), using the initial
condition and the fact that the Green’s function is advanced, we get for x in (—o0, ag)

ag t ag t t ag
/ / dz dt |:L902G2 — (,OQLTGQ:| = / dQTgOQGg — CQ/ dthQGQ
—oo Jtg —o0 to to —00
t ao
pa(x,t) = 02/ dt’ o (2, 1) Go (2!, 1, 2, 1)
to —00
¢
0 / At a2, )0t — 1)6(x — ag + ca(t — 1))
t
o (1.10)
— o /l_i>m dt' o (2, )0t — ) (x — 2’ + co(t — 1))

t
= 02/ dt' o (ag, t')0(z — ag + c2(t — t'))
to
after interchanging the primed and unprimed variables. The last equality sign follows
because x — 2’ + co(t —t') > 0 when 2’ < x for all ¢ in the integration interval (to,t).
For the second integration interval, (ag, a;), we let 1 be the Green’s function

=Gz, t, 2 t") =0t —t)0(2' — x4+ 1 (t' —1)). (1.11)
According to our specifications, the function ¢ = ¢, is in the interval (ag, a;)
1, = vp1, +J
0 (1.12)
Loy =7

with vanishing initial conditions. Inserting (1.11), (1.12) and S = (ag, a1) into the inte-
gral identity (1.2), using the initial condition and the fact that the Green’s function is

advanced, we get for z in (ag, a;)
aj t ay t
/ / dx’ dt/ |:L(p1G1 - @1LTG1:| = / dl’/Q01G1 — (1 / dt/(plGl
ag to ag to to

t al

ao
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t
gpl(x,t):cl/ dt'pi(ar, t")o(x —ay + 1 (t — 1))

to

t
—cl/ dxt'1(ag, t')d(x — ag + c1(t — ) (1.13)

to
a1 t
—i—/ / da’ dt'j (2, ¢)0(z — 2’ + 1 (t — ')
ag to

after interchanging primed and unprimed variables. The last equality sign follows because
x —ap+c(t—t') >0 for all ¢ in the integration interval when ag < z < a;.
Finally, for the third integration interval (a1, +00) we let ¢ be the Green’s function

=Gz, t, 2, ) =0t —t)0(2' — x4+ co(t' — 1)) (1.14)

According to the properties of j and j,, the function ¢ is in the interval (a;,o00) the
solution to the equation

P2, = VP2, + Js
i (1.15)
L(P2 = js
with vanishing initial conditions. Inserting (1.14), (1.15) and S = (a1, 00) into the inte-

gral identity (1.2), using the initial conditions and the fact that the Green’s function is
advanced, we get for z in (a1, 00)

+o00 t +00 t t +oo
/ / dLIZ‘/ dt/ |:L(p2G2 — QDQLTGQ:| = / d.TIQOQGQ — CQ/ dt/@QGQ
al to al to to al
t
©o(x,t) = o lir}rl dt’ o (2’ t)0(x — 2’ + co(t — )
' —+o0 to
t
_ cz/ At pa(a1, #)5(x — ay + calt — 1))
(1.16)

t
oo gt

—I—/ / da’ dt'js6(x — 2’ + ca(t — 1))
a1 to

+oo t
:/ / da’ dt'jso(z — 2’ + co(t — 1))
al to

after interchanging primed and unprimed variables. The third terms vanish because
r —ay; + c(t —t') > 0 for all ¢ in the integration interval when = > a;. The second
term vanish because x — 2’ + co(t — t') < 0 for all fixed x > ay, t > t; and all ¢’ in the
integration interval (to,¢) when 2’ is large enough.
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We now investigate the limit of there integral identities as x approach the boundary
points {ag, a1 } of the open interval (ag, a;) from inside the interval and outside the interval.
This will give us four equations for the four boundary values

<P1<a07 t): 902(a07 t)> Sol(ala t)a 902(a1> t)

However, by assumption, acceptable solutions of the toy model are continuous across the
boundary points {ag, a;}. We therefore also have the two additional equations

pa(ao,t) = p1(ao,t)

p1(ar,t) = pa(ai,t) (1.17)

So we have four unknown boundary values and six linear equations. The problem is thus
overdetermined and we would not normally expect there to be any nontrivial solutions.

On the other hand, the first of the equations in the toy model determine the function
¢ uniquely on the whole real axis in terms of the source j 4+ j; and the vanishing initial
conditions. The function satisfy, by construction, the integral identities whose limits
yielded the overdetermined system. So the overdetermined linear system does in fact
have a solution.

There is a more direct way to see why the overdetermined system will have a solution.
Let us consider the inside of the scattering object, thus = € (ag, a;). Here, the field ¢, is
determined in terms of the current j(z,t), and the boundary value ¢;(aq,t) by identity
(1.13)

al t
o1(z,t) = / da:// dt'j(2', t")o(x — 2" + 1 (t — 1))
w (1.18)
+c1 / dt/g01(a1, t’)é(m —ay + Cl<t — t/))

to

Natively, one would expect that we will get an equation determining the unknown bound-
ary value ¢ (aq,t), by taking the limit of (1.18) as x approach a; from below. However,
this would make the field inside the scattering object independent of the outside source,
which from a scattering point of view must be patently wrong. After all, it is the outside
source js(z,t) which determine the field both outside and inside the scattering object.
If this source is turned off the field would sipmly be zero everywhere. Note that if we
actually take the limit of (1.18) we get the equation

Spl(ala t) = Oa

which leaves the boundary value entirely arbitrary. If we analyse the rest of the overde-
termined system in the same way, we find that one more equation for the boundary data
is redundant
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Tr—rao a

al t
¢1(ag,t) = lim dx’/ dt'j(2’, t)o(x — 2" + 1 (t = 1))
0 to
¢

+c¢ lim [ dt'ei(a,t)o(x —ap + 1 (t — )

w0 Ji (1.19)
1 @ /- / x/ - ao / /
=— da'j(a',t — )0(ag — 2"+ c1(t — 1))
C1 Jag C1
a; —a
+ 1(ay, t — —Y8(ag — ay + c1(t — 1))

(&1

t

©a(ag,t) = c lim dt’ s (ag, t')0(x — ag + co(t — t'))
Tr—rag to (120)

= —QOQ(Clo,t) =0

+o0o t
pa(ar,t) = lim dx’/ dt'js(2, )0 (x — 2" + ca(t — 1))
1 to

r—ail a
8 (1.21)
1 <, ' —a ,
=— da'js (2t — )0(a; — x" + co(t — 1))
Co a1 Co

and thus the four unknown boundary values are uniquely determined by the following
four equations

1 al !/
¢W@ﬂ:—/)mﬁW¢—x “0N0(ag — 2 + er(t — 1))

1 Jag “ (1.22)
a; — a
+ o1(ag, t — : No(ag — ar + 1 (t — t'))
1
1 400 /
@ﬂmj):zi/ (ny¢ﬂt—xc‘“wml—f+@ﬂp-mn (1.23)
2 Jap 2

p2(ao, t) = p1(ao, t)
p1(ar, t) = pa(ar, 1)
We emphasize the fact that we end up with an overdetermined system of linear equa-

tions for the boundary values because this is a generic outcome when we derive the EOS
formulation for any given system of PDEs.
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This problem has been recognized by the research community in the context of space-
time boundary integral formulation for the Maxwell equations, and a simple fix has been
invented to resolve it.

Observe that equation (1.23) determine the value of the field at the boundary point
ap in terms of the given source j,, and the equation (1.22) determine the value of the field
at the boundary point a¢ in terms of the current j which by definition is located inside
the interval (ag, a).

Equations (1.1) restricted to the open interval (ag, a;) together with the integral iden-
tities (1.22), (1.23) define the EOS formulation for toy model 1.

1.1.2 Numerical implementation of the first toy problem
Solving of the test problem

Before to solve original problem (1.1) let us consider test linear boundary problem

or=cpr +7+ filz,t), ap<z<a, 0<t<T
pr = —Jjz + fa(z, 1) (1.24)
Ji=ap —vj+ f3(z,t)

with zero initial conditions and boundary conditions ¢(ag,t) = f(t) and p(a,t) = g(t)
by different methods and to choose the most suitable one for this problem.

Actually original problem is delay problem because ¢(t, ag) depends on values of j(z,t)
in previous time points. But it is difficult to find exact solution to delay system and
compare it with numerical solution, so we are going to solve system of PDE.

We use exact boundary conditions for function ¢ because in original problem we have
expressions for this function on the boundaries and know nothing about boundary values
neither for function p or j.

We can choose exact solution for this problem (1.24) to find functions fi(z,t), fo(x,t)
and fs(z,1).

Let us take the next exact solution to the problem (1.24)

go(x,t) _ 6710(x+2t77)2
p(x,t) = —0.1¢10@+2=7)° (1.25)
j(l‘; t) _ 0.16710(%2%7)2

Then we can find that

fi(z,t) = ((20¢ — 40) (2 + 2t — 7) — 0.1)e~ 10@+2=77
folm,t) = 2(x + 2t — T)e 10@+2=7)7 (1.26)
fo(z,t) = (—4(x +2t —7) —a+0.1y)e” 10(z+2t—7)2
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We are going to solve this problem by Central Finite Difference method (CD), Modified
Euler method (ME), Lax-Wendroff method (LW) and by ODE solver which called odeint
from Python3 library for scientific computing SciPy.

Central Finite Difference method First method is finite difference method because
this method is the most popular and simple to realize. We will use Central Finite Differ-
ence rule for time and space derivative. We introduce a uniform spacetime grid (zy, t;)
where xp = ag + kdx, k. = 0,...,N + 1 and t; = idt, i = 0,..., M where zy = ay,
ap — Qo

N +2

The expressions for numerical solution at the grid points are

TNyl = a1, dr = . The solution will only be computing at the grid points.

pr = Cdx(%ﬂ — o) T 2dt (G + filzn 1) + o)
i dt y i 1.27
Pljl - _£<]k+1 — Jk) + 2difo(zr, 1) + o 1 ( )

Gt = 2dt(apl, — vji + falan, i) + 5"

Polynomial approximation We need values of p on the boundaries ag and a;, but
we cannot calculate them by usual way using Central Finite Difference method because
we need values of j in outside points, which we do not have. So we need another way to
find boundary values of p.

Let us take the polynomial approximation of function U(x)

U(x) = ag + ay(x — x1) + ag(z — x1)* + O(a®)
. Then the z-derivative is
Ug(x) = a3 + 2as(x — xy)
Ug(zp) = aq

If we have points xx, g1, Tgio, then xpy 1 — 2 = dox, 319 — v = 2dz, then we can get
linear system

U(zg) = ap
U(.’L‘k+1) =agp+ a dr + as d$2
U(Zpp2) = ag + 2a; dz + 4ay da?

with two unknown variables a; and as. If we solve this system we find that

Ux($k) - _SU(‘rk) + 412((‘11;4-1) B U(xk+2> (128)
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for the left boundary. Analogously we can construct system for the right boundary, but
now we have points xy, xx_1, Tx_o and x| — vy = —dx, 49 — 1 = —2dx

U(zy) = ag
U(xp_1) = ag — a; dz + ay da?
(

U(xr_2) = ag — 2a; dz + 4ay da?

If we solve this system we find that

for the right boundary.

Now we can use these two special rules (1.28) and (1.29) to calculate values of function
p on the boundaries

pott = _d_(_gjo + 451 — j3) + 2dtfazo, ) + ph
df (1.30)
Pt = =g B — 4 + i) + 2dta(en, t) + pivh

Actually Central Finite Difference method in time and space (Leap-Frog) [7] is a two-
level scheme, requiring records of values at time steps t; and t;_; to get values at time
step t;+1. This is clear from expressions (1.27). So we need two initial conditions at t = tg
and t = t;. For original problem (1.1) it doesn’t matter because the solution stays zero or
close to zero for several first time steps. But for problem (1.24) we need one more initial
condition, which we can find from known exact solution.

So let us see now on Figures 1.2-1.4 the numerical solution of the problem (1.24) and
compare them with exact solution in several time points.

In this test T'=12, a9 = =3, a; =3, c=0.5, a =y = 0.1, dt = 0.01, dx = 0.01.

We can see that Central Finite Difference method solution overlaps exact solution
perfectly until the signal gone. After the signal gone there are some oscillations around
zero which possibly come from the numerical scheme. Also we can see artefact in solution
to p on the left boundary. The first point grows up linearly. The nature of this artefact
needs additional investigation and we are not going to do it in this work.

Modified Euler method Let us now apply Modified Euler (ME) method to the given
test problem (1.24). Modified Euler method is an example of 2"¢ order Runge-Kutta
method [9]. If we have initial value problem

Yt = f(t7y)
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Figure 1.2: Exact (blue) solution and numerical (green) solution of test problem (1.24)
for p(z,t) in time points t = 2 (upper left), ¢ = 4 (upper right), t = 6 (lower left), t = 11
(lower right). Horizontal axis is x.
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Figure 1.3: Exact (blue) solution and numerical (green) solution of test problem (1.24)
for p(z,t) in time points ¢ = 2 (upper left), t = 4 (upper right), ¢ = 6 (lower left), t = 11
(lower right). Horizontal axis is .
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Figure 1.4: Exact (blue) solution and numerical (green) solution of test problem (1.24)
for j(x,t) in time points ¢t = 2 (upper left), t = 4 (upper right), t = 6 (lower left), t = 11
(lower right). Horizontal axis is .

the scheme of ME method takes form

Ky = hf(ts,y:)
Ky = hf(tiv1,y: + K)
K|+ Ko

Yir1 =Y + 5

where h is time step, t; =th, 1 =0,...,n.

If we apply this scheme, Central Finite Difference rule to x-derivatives and polynomial
approximation for the boundary values from the previous section to the test problem we
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get the next scheme

c i i 9
Kf = dt(ﬁ(@k—f—l - Spk—l) +]k + fl('rk7tl))
c i i .
K3 = dt(%(@kﬂ = @h—1) Tk + fi(@g, ti))
i iKY+ K7
Pr = o+ %
1 - N
K{ = dt(—ﬁ(%ﬂ — Op_1)t + fa(zk, 1))
1 i i
K§ = dt<_ﬁ(§0k+1 — Q1) t falzj, tiv1))
i . K+ Kb
901:1 = ¢+ — 2

2
K{ = dt(ap), — i + falwr ti))
K3 = dt(ap), — v + K1) + fa(zr, tiv1))
K{ + K}
2

=gk

where i, k, t;, x;, are the same as for Central Finite Difference method which was described
before.

So let us see now on Figures 1.5-1.7 the numerical solution of the problem (1.24) and
compare them with exact solution in several time points.

In this test T'=12, ap = =3, a; =3, c=0.5, a =y =10.1, dt = 0.01, dx = 0.01.

We can see that this method is unstable for the given problem and instability appears
after the signal.

Lax-Wendroff method The next method which we are going to use is Lax-Wendroff
method. This is finite difference method for first order equations. The Lax-Wendroff
method can be used to approximate equations for ¢ and p from (1.24) by an explicit
difference equation of a second-order accuracy.

Consider the problem (1.24) where ¢ is a constant. By Taylor’s expansion,

2

@) = p(t; +dt, zp) = ), + dt(ey);, + 7(90tt)k +..
2

pr. = p(t; +dt, xy) = pj, +dt(pe);, + T(ptt)k +...

where zy = ap + kdr and ¢t; =4dt, 2 =0,1,2,..., k=0,1,2,....
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Figure 1.5: Exact (blue) solution and Modified Euler (green) solution of test problem
(1.24) for (z,t) in time points ¢t = 2 (upper left), ¢ = 4 (upper right), t = 6 (lower left),

t = 11 (lower right). Horizontal axis is x.
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Figure 1.6: Exact (blue) solution and Modified Euler (green) solution of test problem
(1.24) for p(x,t) in time points t = 2 (upper left), ¢ = 4 (upper right), t = 6 (lower left),

t = 11 (lower right). Horizontal axis is .
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Figure 1.7: Exact (blue) solution and Modified Euler (green) solution of test problem
(1.24) for j(z,t) in time points ¢t = 2 (upper left), t = 4 (upper right), t = 6 (lower left),
t = 11 (lower right). Horizontal axis is .

The differential equation can now be used to eliminate the t-derivatives

2

; ; ) i dt . i
ot = ¢ + dt(cpr + 5 + fi(@, 6)), + —(coa + Ji + fri(z,1));

2
2

= (p?c + dt(cgpx +] + fl(x7t>)?c + di(cgotm + (Oégo - 7] + f3<l’,t)) + flt('rvt)ﬁc

= b +dt(cpe +j + fi(z,t)

2

+ (oup - 7] + f3<l’,t)) + flt xat));c

. , .t
= ¢y, + dt(cpy + 7+ fi(z, 1)), +

2
2

+ (Oé(p - ’7j + f3(£(],t)> + flt(x’ 75))2

for ¢ and for p

2

)i+ d7t2<c<csox +Jj+ iz, 1)s
(

(0290293 + ij + Cflcs(xv t)

, , , ;o dt _ i
p?jl = pp + dt(—Ju + fo(z, 1))}, + — (= + for(, 1))}

2
2

= g+ At + ol )+ (it farle 1))

2
2

= o+ dt(—jia + fale, ) + S (—(ap — 75 + F3(z, ) + Fo(, 1)

2
2

. - d '
= P!+ dt(—jo + fol, 1)k + i(—agox + Vje — fap(2, 1) + for(z, 1))

2
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Finally, the replacement of the x-derivatives by central-difference approximations gives,
to terms in dt?, the explicit difference equation

90?1 = ‘Pk + dt(2d (SOkJrl 80271) + jii + fi(wg, tz))

dt? 1 ;
+ 7( dr 2(90k+1 20}, + Ph-1) + CQd Ukt = Ji—1)
+ ol — i + Cflx(xka ti) + fa(xr, z))
, , (1.31)
o =+t = s = i) + ol 1)
dt? O i Vg i
+ 7( - E(%@H — Q1) T+ E(]k+l — Ji—1)
+f2t(xk7 ) f3z(xk7t)>
Also we need special formulas for calculation of p; on the boundaries
o = o+ dt( S (= 3+ 451 = ) + folao. 1)
d* i i i g i G s
7( 24 ( 3 +4p] — ¢h) + E(—?’]o + 471 — ]2)
+ fou(0, 1) — fgz@o,ti)) (1.32)
P41 = Pt + dt( - E(3JN+1 —4jn +JN—1) + fQ(xN-I-lvti))
dt? - i i i G
+ 7( - E(?’@N—H — 4oy + 1) T 2d (3JN+1 47y +JN_1)

Also we will use Central Finite Difference method to calculate values of j(x,t) in points
of grid, so
it = 2dt(ag) = vii + falow, ) + 5

Now we can apply this numerical method to solve problem (1.24) for the same example
functions like before. On Figures 1.8 — 1.10 we can see numerical solutions to (1.24)
compare to the exact solutions. They overlap perfectly until the signal gone.

In this test T' =12, ap = —3, a; = 3,c = 0.5, « = v = 0.1, dt = 0.01, dz = 0.01.

Again we can see the artefact on the left boundary in solution to p, which possibly
appears because of the same nature as before in Central Finite Difference method solution.

ODE solver In this paragraph we are going to apply ODE solver odeint from Python
library SciPy [1]. This ODE solver integrates a system of ordinary differential equa-
tions and solves ordinary differential equations using Isoda from the FORTRAN library
odepack. So we need to rewrite our problem (1.24) to system of ODE.
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Figure 1.8: Exact (blue) solution and Lax-Wendroff numerical (green) solution of test
problem (1.24) for ¢(x,t) in time points ¢ = 2 (upper left), ¢ = 4 (upper right), t = 6
(lower left), ¢t = 11 (lower right). Horizontal axis is x.
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Figure 1.9: Exact (blue) solution and Lax-Wendroff numerical (green) solution of test
problem (1.24) for p(x,t) in time points ¢ = 2 (upper left), ¢ = 4 (upper right), t = 6
(lower left), ¢ = 11 (lower right). Horizontal axis is x.
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Figure 1.10: Exact (blue) solution and Lax-Wendroff numerical (green) solution of test
problem (1.24) for j(x,t) in time points ¢ = 2 (upper left), t = 4 (upper right), t = 6
(lower left), ¢ = 11 (lower right). Horizontal axis is x.

Let us introduce space grid g, ..., zyy1, Where xg = ag, xy11 = a;. Also let
£: (9017"'7@N)
E - (P07 v 7PN+1>
j = (Jo,--,in+1)

where @; = p(t,x;),i=1,...,N, pp = p(t,z1), jx = j(t,zx), k=0,..., N+ 1. We didn’t
include ¢g = @(t,x0) and @ni1 = @(t, Tn41) to system as unknown functions because
they are known from boundary conditions.

Also to rewrite the problem (1.24) to ODE system we need to change x - derivatives by
approximations. Let us use Central Finite Difference rule for ¢, j, and special polynomial
approximation of j, for p;(t, ag) and py(¢, a;) as before in Central Finite Difference method.

Now we can rewrite the problem as

Y= M1£+Z+i1<t)
p, = Msj + f,(t)
J, = ap =i+ [4(#)

where i1(t) = (fl(xlyt)v"'vfl(QJNat))a iz(t) = (fi(a0>t>7fi(x17t)7"'7fi(xN>t>7fi(a17t))a
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Figure 1.11: Exact (blue) solution and odeint numerical (green) solution of test problem
(1.24) for (z,t) in time points t = 2 (upper left), t = 4 (upper right), ¢t = 6 (lower left),
t = 11 (lower right). Horizontal axis is .

1=2,3, My is N x N matrix

0 1 0 O
-1 0 1 O
c
M:— t.
T 2de '
-1 0 1
0 0 -1 0
and My is (N 4 2) x (N + 2) matrix
3 -4 1 0 0
1 0 -1 0
1
M= |01 0
z : .. .. .0
0 ... 0 10 -1
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Let us now apply the constructed scheme and use system as argument to odeint. In
this test T'=12, ag = =3, a1 =3, c = 0.5, a = v = 0.1, dt = 0.01, dx = 0.05. We take
dx = 0.05 instead of dz = 0.01 because the ODE solver works slow and the process of
calculations takes several hours. We can see on Figures 1.11 — 1.13 solutions to the (1.24)
by odeint. There are some artefacts in solution of p on the both boundaries. Actually
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Figure 1.12: Exact (blue) solution and odeint numerical (green) solution of test problem
(1.24) for p(x,t) in time points ¢t = 2 (upper left), ¢ = 4 (upper right), t = 6 (lower left),

t = 11 (lower right). Horizontal axis is x.
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Figure 1.13: Exact (blue) solution and odeint numerical (green) solution of test problem
(1.24) for j(z,t) in time points ¢t = 2 (upper left), t = 4 (upper right), t = 6 (lower left),

t = 11 (lower right). Horizontal axis is .



1.1.

THE FIRST TOY MODEL

Table 1.1: Compare of numerical solutions

Method Slz/Iammumpdlﬂ'erenc; Process time (sec)
CD 0.005377 | 0.000655 | 0.000626 47.213
LW 0.005022 | 0.003481 | 0.000565 178.616
odeint | 0.007259 | 0.076554 | 0.000626 2764.312
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artefact on the left boundary appeared in CD and LW methods. Possibly artefact on the
right boundary appears because of the similar problem.

Let us now compare process time and maximum difference of numerical solutions which
were founded by Central Finite Difference method, Lax-Wendroff method and ODE solver
from exact solution. We need to remind that for Central Finite Difference method and
Lax-Wendroff method we used dx = 0.01 and for odeint we used dz = 0.05 because of
slow process of calculations.

Also we didn’t include Modified Euler method because we saw that it is unstable.

We didn’t include difference between exact solutions and numerical methods on the
boundaries because of artefacts. So in Table 1.1 we compare difference only inside the
domain.

We can see that Central Finite Difference method and Lax-Wendroff method are more
accurate, but they have big difference in p. But also Lax-Wendroff method is more stable
than Central Finite Difference method [7]. On Figure 1.14 we can see exact solution,
numerical solution by Central Finite Difference method and numerical solution by Lax-
Wendroff of test problem (1.24) with parameters T = 12, ap = —3, a; = 3, dx = 0.05,
dt = 0.01, ¢ = 2 for ¢ in several time points. We can see that for the same parameters
Central Finite Difference method solution has oscillations unlike solution by Lax-Wendroff
method.

Solution by ODE solver is less accurate because we used dx = 0.05 instead of dz = 0.01
but unfortunately this solver too slow to take another value. So we are going to use Lax-
Wendroff method to solve original Toy model (1.1).

Numerical solution of the first toy problem

In this section we are going to apply Lax-Wendroff numerical method to model (1.1).

Let us first rewrite numerical scheme which we used for test problem by taking ¢ = ¢;
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Figure 1.14: Exact (blue) solution, Central Finite Difference method numerical solution
(green) and Lax-Wendroff method numerical solution (red) of test problem (1.24) for ¢
in time points t = 2 (upper left), ¢ = 4 (upper right), t = 6 (lower left), ¢ = 11 (lower
right). Horizontal axis is .

and fl(xvt) = f2<l’,t) = f3(x7t> =0

¢?1—¢k+d%2d(¢ﬂl wLJ+J@
de? e i i i o
+ 7<d_12(90k+1 — 20} + 1) + 2d —— (k1 — Ji1)

+ (o — Bpi )¢k 7M>

PZH = pp + dt( 2d (]k+1 jli—l))

de* /1 p i i 1 i i i
9 (Zd (Pk+1 Pk—1)90k - E(O‘ - 5Pk)(90k+1 — ¥_1)

(1.33)

1 )
+72d (]k+1 Jk-l))
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and special rules for calculation values of p; on the boundaries

. 1 . . .
i+1 % -3 .q .q
P0+ = Po"‘dt(_ E(_ 3jo + 41 _J2))

dt? /1 B i
+ <2d (=3ph + 401 — ph)e)
1 i i i
T 9 d —(a— 5PO)<_3900 + 4] — ©3)
+ 50 ( 3]0 + 4]1 ];))
2d . - (1.34)
P?\inl = PN+1 + dt( 9 de (3]N+1 4jn + ﬁ\/—l)>
de? / p i ; i
5 <2d (3PN+1 4py + Pv_1)PN 41
1

- ﬁ(a = BP0 B¢ — 4PN + @v-1)
2d 5o (i — 4y +J'1ivf1>>
Also we will use Central Finite Difference method to calculate values of j(x,t) in points
of grid, so o . ’
gt =2dt((a = Bpi)er — Vi) + 5

Let for example take
js(x, t) = ae_b(iﬂ—mo)?e_c(t_to)Q

where a = 2, b = ¢ = 10, o = 10 and tqg = 4. Also we take T' = 12, ag = —3, a; = 3,
dt = 0.01, de = 001, « = =~ = 0.1, ¢y = 1.4, co = 2. Numerical solution of the
First toy problem with described parameters is on Figures 1.15 — 1.17 Again we can see
artefact on the left boundary of p.

1.2 The second toy model
Our second toy model is

o1 = (@) + 7+ Js
1/}15 = V(:L‘)(p:c

Pt = —Ju

o= (= Bp)p —7j

(1.35)

Where ¢ = p(z,1) is the "electric field”, ¢ = ¢ (x,t) is the "magnetic field”, j = j(z,t) is
the ”current density”, p = p(z,t) is the "charge density”. These quantities are analogues
to the corresponding quantities in the Maxwell equation. The charge density and current
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06 t:8‘ sec 06 t:Q‘sec

o5t 05t

0.4} 04}

03} 0.3f

0.2+ 0.2}

0.1F 0.1}

0'0—3 -2 -1 0 0'0—3 -2 -1 0 1 2 3
06 _ t=10sec 0.6 t=12 sec

05} ] 0.5

0.4} ] 04}

03} 1 0.3f

02t 1 0.2f

01f 1 0.1f

0'0—3 -2 -1 0 1 2 3 0'0—3 -2 -1 0 1 2 3

Figure 1.15: Numerical solution of model (1.1) for ¢ in time points t = 8 (upper left),
t =9 (upper right), ¢t = 10 (lower left), ¢ = 12 (lower right). Horizontal axis is x.

0.005 t=8 sec 0.005 t=9 sec
0.000
-0.005|-
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-0.015}
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-0.015|
-0.01 1
-0.020} —0.02 |
—0.025 . . . . . _0.03 n : . . .
23 E) -1 0 1 2 3 =3 —2 -1 0 1 2 3

Figure 1.16: Numerical solution of model (1.1) for p in time points ¢ = 8 (upper left),
t =9 (upper right), t = 10 (lower left), ¢ = 12 (lower right). Horizontal axis is x.
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t=9 sec

0.030 0.035

0.025| 0.030}

0.020} 00251
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0.015}
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t=12 sec
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0.025}

0.020} 0.035}
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Figure 1.17: Numerical solution of model (1.1) for j in time points ¢ = 8 (upper left),
t =9 (upper right), t = 10 (lower left), ¢ = 12 (lower right). Horizontal axis is x.

density will be assumed to be confined to an interval [ag, a;| on the real axis whereas the
fields ¢ and ) are continuous on the whole real axis. This interval is, like for the first toy
model, the analogue of a compact scattering object in the electromagnetic situation. The
function js(z,t) is a given source that has support on a compact set in the interval x > a;.
The parameters «,  and v are constant inside the interval [ag, a;] and ero outside. The
functions u(x) and v(x) are "material” parameters analogous to electric and magnetic
susceptibilities in the electromagnetic case.

o) = w1 x € lag, a1
) {Mz v ¢ o,

v(z) = {m x € |ag, a4]

ve x & |ag,a]

Graphical representation of the Second Toy model is shown on Figure 1.18.

1.2.1 The EOS formulation

In order to derive the EOS formulation for model (1.35), we will firstly need a space-time
integral identity involving the matrix operator

_ at _,uaz
L= <—uax 5 ) (1.36)
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thA
Qe = WY, | @ = WY tj P = WPt

Y, = V0, Ve = V9, Y = V0,
P, ==« L (x.t)
jo = (a=Bplo—yj /\15“

“\

<

ao (11 X

Figure 1.18: Graphical representation of the second toy model. The blue ellipse represents
the source js(z,t) outside the domain bounded by = = ay and = = a;.

where p, v are constants. The operator (1.36) acts on vector valued functions in the usual
way and we can write the first two equations from (1.35) in the compact form

L <2‘;> (2,1) = (j +03> (2,1) (1.37)

Al Ap) . . .
1 12> is a matrix of functions A(x,y,t)

A21 A22

A (pr — pthg) + Ara(—vps + 1)
dthL(p:/ ddt(”t
/sXcr ! <¢> SXT ! Ag1(pr — pthy) + Aga(—vps + 1)
_ / dedt <—808t1411 + 0y An + vp0, Arg — l/JatAn)
SXT — 0 Aoy + 0, Aoy + V0, Asg — 100 Asg

Ao + ¢A12) ! / (—M@DAH - VSOAlz)
d dt
+/S v (A2190 + P Ay to * T —pth Az — v Az
t
- dzdtLTA (‘p) + / dzA ((’0) + / dtB (‘P>
/S><T d} S w to T "p

So we have integral identity
t1 x1
— / dxB (cp)
to T ¢

[ walar () =2 (7)) = Lo ()

where S = (zg, 1) and T' = (¢, t;) are open space and time intervals and where ¢ and
are smooth functions on the space-time interval S x T'. Also A = A(z,t) is a 2 X 2 matrix

valued function
A _ (All A12>
Agr Ago

LetA—(

x1

o
1

o

—~

1.38)

o
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L' is the formal adjoint to the operator L, and acts on the matrix valued function A
in the following way

-0, A +V8A u@ A11—8A12
LTA — t 11 X 12 X t > 139
(—@Am + v0, Aga 0 A9 — Oy Az (1.39)
B is the 2 x 2 matrix valued function
—vAi —,UAH)
B = 1.40
<—VA22 —pAa ( )

The second item we need in order to derive the EOS formulation for model (1.35), is the
advanced Green’s function for the operator Lf. This is a 2 x 2 matrix valued function
G(z,t, o', t') that satisfy the equation

LGz, t, 2" t) = 6(t —t")o(x — /)] (1.41)
and that vanish for ¢t > ¢. In (1.41), I is the 2 x 2 identity matrix.

Using (1.39) in (1.41) we have the following system of four equations for the compo-
nents G.

0,G11 — v0,G1a = —6(t — t')o(z — 2')

0iG1a — p0,G11 =0

0yGo1 — v0,Gay = 0

0yGag — 10,Ga1 = —6(t —t")0(x — 2')
We use the one dimensional Fourier transform in z to solve the initial value problem for
1.42. Let the Fourier transform of G;; be denoted by g;;(A, ¢, 2/, ¢'). Then we get system

(1.42)

1 .
0911 — VAG12 = _\/T@W”(S(t - t/>
T

Oig12 — pAg =0

Drdor — Ay — O (1.43)
OrGas — [INGa1 = \/12_7Te“$5(t —t')
If we solve system 1.43 we get
G = 1e(t’ —t) {5@’ —x+ ot —1t)) =o' —x — Jur(t — t’))}
Gz = f t'—t) {5 o=+ Juv(t—1t)) —o(a —x—\/ﬁ(t—t'))]
(1.44)

Go = = f (t'—1) {555 —m+\/ﬁ(t—t’))—|—5(x'—m—\/W(t—t’))]
Ga = 59(15’ —t) {5(95’ —x+Ju(t—t)) =o' —x — Juv(t — t’))]
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So we have

Gz, t, 2, t') = —%{(5 /;) 0z —2' +c(t—1)) s

+ < ¢ ;“) S(x —a' —c(t— 1))}

—V

where ¢ = pv. This is analogue to the corresponding identity for the speed of light in
electromagnetics.

We will now apply the integral identity (1.38) to each space interval (—o0, ag), (ag, a),
(a1,00) with A equal to the advances Green’s function (1.45) and where ¢ and ¢ are
solutions to the system

(1.46)

wt = V(-T)S%

with vanishing initial conditions ¢(x,ty) = ¥(z,ty) = 0.
For the first interval, (—o0, ag), we let A be the Green’s function
ot —t
Go(z,t, 2’ 1) = —g{ (CQ “2> §(x — 2’ + ot — 1)
2¢s Vo C3

(1.47)

n ( €2 _“2) Oz —a' — et — 1))}

—y Co

According to the described properties of j and j,, the function ¢ = g, ¥ = 1)y solves, in
the interval (—o0, ag), the system

Vo = ooy
¢2t = V2P

0 (1.48)
P2
L =0
(@)
Inserting (1.47), (1.48) and S = (—00, ag) in the integral identity (1.38), using the initial

conditions and the fact that the Green’s function is advanced, we get fo x in the interval
(—00, ap).

[ aeateir (3 - 16 (2) -

/S dzGy (iz) (. t)])! + /T dtBy (ii) (. )|,
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So after interchanging primed and unprimed variables

(ii) (z,t) = — /to1 dt' By(ao, t', z, 1) (ij) (ao, t')

) (1.49)
+ lim [ dt'By(R,t, x,t) (‘”) (R, )
R——o0 to 1/12
The function Bs is from (1.40)
ot —t
By(a', ¥, x,1) = —%{ (52 ‘f) O — 3 + calt — )
2 (1.50)
+(_C2 “2)&x—xh—@@—ﬂ»}
1) —C9

From (1.50) it is evident that the last term in (1.49) vanish. This is because for large
R the argument of the delta function does not charge sign in the interval of integration.
Inserting the expression (1.50) into (1.50) and changing to variable defining the argument
of the delta function in the two integrals, we get that for = in (—oo, ag)

(Z‘Z) (2.1) = — /t 0t By(ag., t', 2, 1) (i;) (a0, 1)

- % (z g;) /: dt'5(z — ag + ca(t — 1)) <i§> (ao,t") (1.51)
_ 1 (02 m) 0(x — ag + co(t — ') (:Zz) (a0, t + = —20)

2co \2 C Co

For the second interval, (ag,a;), we let A be the Green’s function

Gi(z,t, 2/ t) = —w{ (Cl ’“) Sz —a' +ei(t—t))

2cq vV G

. ( o —Ml) (e — 2/ — ea(t — 1))

- &1

(1.52)

According to the described properties of j and js, the functions ¢ = 1, ¥ = 1 solves,
in the interval (ag, a;), the system

@1t = ,ulwl:c +]
¢1t = NP1z
1 (1.53)

+(2)-)
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Inserting (1.52), (1.53) and S = (ag, a1) in the integral identity (1.38), using the initial
conditions and the fact that the Green’s function is advanced, we get fo = in the interval

(ag,ay).

[ et (32) =06, (3 o -

U
¥1 t1 ®1 ay
/deGl (w1> (m,t)’to + /TdtB1 (wl) (x,t){ao

So after interchanging primed and unprimed variables

( ) /w da'dt' Gy (2, ¥, %, 1) (6) (2, )

/tl dt' By (a1, t, 2, 1) (Z’Z) (ar,t) (1.54)

+/1dt B1 Clo,t xr t) (w1> (ao,t/)

The function By is from (1.40)

Byt t) = — - ”{(Cl “1> 5z — o' + eyt — 1))

vy

n <‘Cl 1 ) 0z —a' —er(t —t))}

vy —C

(1.55)

Inserting (1.52) and (1.55) into (1.54), we get after changing variables to the arguments
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in the delta functions that for = in (ag, a;)

©1 1 C1 —H1
t) = —
(@Dl) (z.1) 20% (_Vl c1 >
C1
()

Tttt - 0) - - a) () e - )

+ =

QL < > . (1.56)
(p101) (ar,t — 2
-5 (30 ) (et~ 1) ~ (& — )
(01¢1) (an, )

For the third interval, (a;, c0), we let A be the Green’s function

ot —t
Go(z,t, 2/ 1) = —%{<§Z @‘j) Sz — ' + eo(t — 1))

+ <_Ci2 _W) oz —a' — et = 1))} -

Co

According to the described properties of j and j,, the function ¢ = g, 1 = 1)y solves, in
the interval (a;, 00), the system

Yot = ﬂQwZCC + js
oy = VoPog

i) | (1.58)
)-6)

Inserting (1.57), (1.58) and S = (a1, 00) in the integral identity (1.38), using the initial
conditions and the fact that the Green’s function is advanced, we get fo x in the interval
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(aq,00).

[ asaten (2 - 16 (2) -

©2 t1 P2 00
/Sda:G2 (¢2) (z,t) w T /Tdt32 (%) (x,t) o

So after interchanging primed and unprimed variables

(ii) (x,t) = /SXT dr'dt' Go(a' ', t) (‘ﬁ) (a',t)

t

— lim | d'By(R,t, x,1) (f) (R, 1) (1.59)
2

R—o0 J,
0

t1
+ / dt' By(ar, 1, z,t) @2) (ar,t)

to 2

The function Bs is from (1.40)

2 Vo Co

n (—02 pa ) 0z —a' — et — 1))}

Vo  —Co

By(2',t x,t) = —M{(C2 ”2) §(z — 2" + ot — 1))
(1.60)

Since the arguments of the delta functions in By does not change sign in the interval of
integration for R big enough, the second term in (1.59) will vanish. Inserting (1.57) and
(1.60) into the remaining terms of (1.59), we get after changing variables to the arguments

in the delta functions that for z in (a1, 00)

(@) - ()

_ b (_62 e ) Beat —to) — (2 — 1)) (1.61)

2co \ V2 —C3

P2 -
(2 =25
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where ¢; and ¢); are fields that are entirely determined by the given source j
(%) (x,1) —/ dr'dt' Go(a' ', 2, t) (js) (2, t)
'l/J' ) - 2 3 Uy ey 0 )
g SxT
_ (e —m
23 \—12 &
x . o
[ttt -0 - - (F) -2 e
1 Co M2
* 2¢2 (Vz Ca

/:O O(calt — to) — (¢ — ) (JO) T

&)

Taking the limit of the integral identities (1.51), (1.56) and (1.61) as = approach the
boundary points {ag, a;} from inside and outside the interval (ag, a;) we get

() o= (5 1) () an

) (1.63)

(5w () eo=s

L €1 ¥1
" on (m c1> (@bl) (40,%) (1.64)

() (5) o -
C—ll (2 ’2) / dr'0(cy(t — to) — (2 — ag)) ({)) (@2 ;“0)
+ (Cl ’21) B(es(t — to) — (a1 — ap)) (ii) (ay, t — L0

1
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(51) (ar,t) = 2%% (_c;l —C;jl)
/al da'0(cy(t — to) — (a1 — 2)) ({)) g B

ao

b (_Cl _'ucll) O(ci(t —to) — (a1 — ag)) ( ) (ag,t — L0

2c1 \ 1
et ( )( ) (1.65)
(5 2o
)~

() [ ot -0 o) (3) e 2
- <_Cl f;) 0(ci(t —to) — (a1 — ao)) (ii) (a0, — 7%

n (&1

(52) 0= () 0= 5, (5 22)
i (1.66)

() (2t =20 (5)

Continuity of the fields at the boundary points {ag, a1}, gives us two additional equations

(32) (a0,8) = (Zi) (a0, ) (1.67)
(51) (ar,1) = (Zz) (a1,1) (1.68)

Altogether we have six linear equations for the four vectors

(;’Z;) (ag,t), (22) (ag, 1), (Zii) (a1,1), (ii) (a1, 1)

Thus our system is overdetermined and contains equation that are reduntant. Mathemat-
ically this is reflected in the fact that the determinant of the matrices

S AN
(ﬂj . ),3_1,2 (1.69)
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are all zero. For the first toy model it was obvious which two equations were redundant,
here it is not immediately clear which equations we can remove, and this will also be the
case when we write down the EOS formulation for more general systems of PDEs, like,
for example, Maxwell equations.

For the system (1.63) - (1.66), it is not very hard to identify the redundant equations,
but will rather introduce a different approach that is in general quite useful when working
with the EOS formulations of PDEs. This is the method that has been used by the
research community that calculate electromagnetic scattering from linear homogeneous
scattering objects using a time dependent integral formulation of Maxwell’s equations.
The reason why this method has been used for the Maxwell equations has not been
clearly stated in the research literature, it has rather taken the form of a trick that is
needed in order achieve stability and accuracy for the numerical implementation of the
boundary formulation of the electromagnetic scattering.

The point is that even though the system (1.63) - (1.66) is singular we know from its
construction that it has a solution which consists of the boundary values coming from the
unique solution to the scattering problem (1.46).

In terms of linear algebra the situation is that for two singular matrices A and B, the
system

AX:bl

1.70
Bx = b2 ( )

has a solution, x. Let us assume that there are numbers a and b such that
det(aA +bB) # 0
Given (1.70) it is clear that x is a solution to the linear system
(aA+bB)x =b; + by (1.71)

and since the system (1.71) is nonsingular, x is the unique solution to the system. Finding
numbers such that aA + bB is nonsingular is in general not difficult.

Let us apply the approach to the system (1.63) - (1.66). Simply adding together the
equations give us a matrix

( C2 —Mz) i (Cl ,Ul) _ (01 +c —,Uz)
—Us Co vV VG — 1V C + Co

det (Cl +Ca 1 — e

and

= 2c;c v v
Vi — Uy 01+02) 1C2 + oy + s

which is nonzero since all the numbers v;, u;, ¢; are positive by assumption. In a similar
way, adding together (1.65) and (1.66) will result in a nonsingular system. Thus, from
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the singular system (1.63) - (1.66) we get the nonsingular system
Cc1+Co b1 — 2 ©1 .
(Vl -V C+ CQ) (%) (a0, ) =

(o) [Caae-w -6 -an ()@= T2 am

c1 \"1

(et — to) — (a1 — ap)) (Cl ’“) (22) (a1,t — L0

VG
Co+cC1 o — 1 o1
<V2 — UV Cy+ cl) (¢1> (al, t)
1 C — K al / , ] , ay — [L’/
o (—11/1 011) /ao dz'(ci(t — to) — (a1 — 7)) (O) (2',t — . )
—0(c1(t —to) — (a1 — ag)) <_Cl 1 > (ii) (ag, t — ay — ao)

vy —C

+202 (i:) (al,t)

The system (1.72), (1.73), which determine the boundary values of the fields in term of
the internal and external currents, together with the partial differential equations (1.35),
restricted to the interior of the interval (ag, a;), defines the EOS formulation for the toy
model 2.

1.2.2 Numerical implementation of the Second toy model

In this section we are going to apply Lax-Wendroff numerical method to model (1.35).
Let us first describe numerical scheme

ot = of + dt( (¢k+1 Vi1) + Ji)

dt? i i
+ b3 <d 3 (Phar — 205 + @11) + (= Bpi)gi, ’Y]k)
lH =) + dt<2d (@kﬂ @2—1))
dt? i i i I .
+ 5 <V1(d_(¢k+1 — 2y FYy_y) + E(]kﬂ - ]k—l))> (1.74)
,OZH = p, + dt( 2d (]k+1 jli—l))
) <2d (Pk+1 Pk-l)@k - E(OZ - 5Pk)(¢k+1 - SOk—1)

]' -7 -7
+ 7%(]]@—1—1 - ]k—l))
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and special rules for calculation values of p; on the boundaries

PoJr1 = pp + dt( - %( —3Jo + 471 — ]2))
dt* /1 i i iy i
t5 <ﬁ<_3po +4p] — p5)@q
1 i i i
) d (a - 5Po)<_3900 + 4p] — ©5)

+2d ( 3]0"’4]1 )>

| ' ' (1.75)
PZJ\TL = P§v+1 + dt( 2 dr (3]N+1 4j + .ﬁ\lfl))
dt* /1 i i i
5 (2d (3PN+1 4py + Pv_1) PN
1

- H(O‘ - 5P§v+1)(3903v+1 - 4@3\7 + §0§V—1)
Y . .
+ o0 9 dr (3]N+1 4y + JN—1)>

Also, we will use Central Finite Difference method to calculate values of j(x,t) in
points of grid, so o . ‘
gt =2dt((a = Boer — i) + i
Let for example take
jo(x, ) = ae P@—w0)? —elt=to)?

where a = 2, b = ¢ = 10, xop = 6 and ty = 4. Also, we take T' = 12, a9 = —3, a1 = 3,
dt =0.01,der =001, a=8=v=0.1, uy = 1.4, us =2, v = 1 and v, = 1. Numerical
solution of the Second toy problem with described parameters is on Figures 1.19 — 1.21
Again we can see artefact on the left boundary of p which possibly is reason of oscillations
in solutions for ¢, p and j.
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Figure 1.19: Numerical solution of (1.35) of problem (1.35) for ¢ (blue) and p (green)
t=1

in time points ¢ = 8 (upper left), t = 9 (upper right),

right). Horizontal axis is x.

t=8 sec

0 (lower left), t = 12 (lower

0.000 0.000
~0.002} ~0.002}
~0.004| ~0.004|
-0.006] -0.006
~0.008} ~0.008}
~0.010} —0.010}
~0.012} ~0.012}
-0.014} -0.014}
~0.016} ~0.016}
~0.018 -0.018 . . s ‘ s
-3 3 - -2 -1 0 1 2 3
0.000 0.020 t=12 sec
-0.002} 0.015}
~0.004| 0.010
~0.006] 0.005
~0.008} 0.000 1
-0.010} -0.005
—0.012} -0.010 1
—0.014} -0.015 1
~0.016} -0.020 1
-0.018 -0.025 . . ‘ ‘ ‘
=3 3 23 ~2 = 0 1 2 3

Figure 1.20: Numerical solution of (1.35) for p in time points ¢ = 8 (upper left), ¢ = 9
(upper right), ¢t = 10 (lower left), ¢ = 12 (lower right). Horizontal axis is x.
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0.020 0.025 t=9 sec
0.015 | 0.020F
0.015}
0010}
0010}
0.005 | o.005 ]
0.000 s 0.000
0’3 =5 0"
0.025 : 0.026
0.025
0.020}
0.024
0,015} I —
0.010} { o002z
0.021}
0.005 |
0.020f
0.000 : w s " . 0.019
-3 ~2 -1 0 1 2 3 23

Figure 1.21: Numerical solution of (1.35) for j in time points ¢ = 8 (upper left), ¢ = 9
(upper right), ¢t = 10 (lower left), t = 12 (lower right). Horizontal axis is .
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Chapter 2

2D scattering problem

We consider the scattering problem

atQO = M(ayw + Zamw) + f(xa Y, t)

2.1
Op = v(0yp —i0,0) + g(x,y,1) (2.1)

where p = p(z,y), v = v(z,y). Eventually we want to do a boundary formulation for the

geometry shown on Figure 2.1.
Observe that (2.1) imply f = g = 0 that

Outp = (0 0y1) +10,0,1))
= (0,0 +i0,0p))
= 1(0y (v (Oyp — 10,0)) + 10, (v (Oyp — 10,0)))
= (1(Dyysp — 10yatp + 100y + Dpatp)
= 1(Oyyp + Orap)

This is the 2D wave equation. In a similar way we show that v also satisfy the 2D wave

g f(x,y.t),9(x,y,t)

X
Yo, Vo

Wy vy

Yo, Vo

Figure 2.1: Geometry of the given 2D scattering problem.
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equation.
Ou) = ﬂ(atayip - iatam@)
= v(0y0rp — 10,0:p)
= v(0y(1(0y¥ +i0x)) — 100 (1(Oy¥) + i02))))
= uwv(Oyyt) + 10yat) — i0pyth + Duzt))
= pv(Oyyth + Ouat))

Our ultimate goal is to investigate the scattering of electromagnetic waves from metals.
This will involve the Maxwell equations and these have of course wave solutions.

2.1 The EOS formulation

In order to derive the EOS formulation for the problem (2.1), we will firstly need a space-
time integral identity involving the matrix operator

L= (—y@'azt— 9,) _M(ia§t+ ay)> (22

where 1 and v are constants. The operator (2.2) acts on vector valued functions in the
usual way and we can write the system (2.1) in the compact form

L(2) o= (1) oo (23)

In order to get a boundary formulation of this equation we need an integral identity.
Let S = X XY = (z9,21) X (Y0,y1) be a domain in the plane and let T' = (to, ;) is
time interval. Then we have

" A A " — (a - Zaw)w*
dedydtA(L (7 :/ dedydt [ 1 12)(“‘) H% )
/SxT Y < (¢)> SxT e (A21 Ags — (0 + 10, )p* + O
* * tl
_ / dadydtLT A <“0> + / dadyA - (“0)
SxT w S ¢

+ dt/dxdv- B-(*‘))
/ ¥ (B (7))
So we have integral identity

/S dudyds [A ( (2‘;) )t _IfA (z)} |
:/Sd:cdyA~ (i) t0+/Tdt/dedyV~ (B. (i) )

to

(2.4)




2.1. THE EOS FORMULATION 49

where ¢ and 1) are smooth functions on the space-time interval S x T'. Also, A = A(x,t)

is a 2 x 2 matrix valued function
A A
A —
(A21 Asy

LT is the formal adjoint to the operator L, and acts on the matrix valued function A in
the following way

LJrA _ (—(‘ZAH + V(Zam + 8y)A12 ,u(—z@w + ay)AH — @Am) (25)

—atA21 + V(Zam + 3y)A22 ,u(—z@x + 8y)A21 — QtAgg
and B = (B;;i) is a 3-tensor

Bi1y = —ivAje, Bjo = —ivAg,
Boiy = —vAia,  Bag = —vAy,
Bz = ipAy,  Biag = iAoy,
Baia = —pAi1,  Bagy = — s,

The second item we need to derive the EOS formulation for the problem (2.1) is the
advanced Green’s function for the operator LT:

LIG(z,y, t, 2y, t') = 5()6(x)d(y) I (2.6)

Using (2.5) and (2.6) we have the following system of four equations for the components

of GG.

0:G11 — v(i0, + 0y)Gra = —6(t)0(x)d(y)

0Gh2 — p(i0, + 0)G11 =0 2.7)
0,Go1 — v(i0; + 0,)Gaz = 0 '
0yGag — (10, + 0y)Ga1 = —0(t)0(z)0(y)

The two first and the two last equations can be solve separately. We use the Fourier
transform in x, y and ¢ to solve the initial value problem for 2.7.

o0

@(kxa ky7 UJ) = / dx dy dtgp(x’ v, t)e—i(kzx-i-kyy—wt)

—00

3

1 & 4
(p(kxa ky, UJ) - 8_ / dkx dky dw@(ij’ ky, w)ez(kzx—l—kyy—wt)
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Using these two transforms on the two first equations we get
z’w@n — V(kx — ik )
iwélg + M(k‘x + 1k )

w —l/(k?l« - Zl{?y) GH
piky + iky) iw Ghz

H
0
M
detM = —(w® — pv(k2 + k) = —(w* — k)
where k = (k2 + k2)%, = pv.

G11 i —1 w V(kz — ’lky) 1
G12 (.U2 — 2k? _N(kx + Zl{?y> Tw 0

Then we can find that

G
Gu

@II

G (b oy 0) = — __“;kz
bty
Also, we can find Gy1(z,y,t) and Glg(a:, y,t) like
Gu(r,y,t % h dk dkyg11 (s, ky, t)e' Rt troy)
Gra(7,y,t # dk, dkygra(ky, ky, t)e i(kaztkyy)

8

where

911(/€z,ky,t):/ dw—— vt

o w?—c2k?
M(k +Zk ) —iw
912(km7ky7t):/_ood m‘f t

We want to find the advanced Green’s function and use the contour shown on Figure 2.2
Thus

gll(kmky,t) = / dw#e—iwt

o wr—Ck?
< ks +iky)
glg(k’x,ky,t) = /_ood ﬁe t
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C. —ie

Figure 2.2: Contour which is used to find the advanced Green’s function for problem (2.1)

The denominator in ¢g1; and g1 has zeros on the real axis at £kc. Therefore, by Cauchy
g1 =9g12=0 t>0

For t < 0 we close the contour in the upper halfplane and how the two poles, z = +kc, of
the integrands are inside the contour. By Cauchy we get

A —i(=ke) i ke —i(ke) ke
gll(kx7]€y,t) = 27‘(‘7[ (ﬁe (—ko)t 4 ( )e (k )t)

- (ezkct 4 e—zkct)

k. +i/€ . k. + ik ke
Gr2(kg, ky, t) = 2mi (ge i(=ke)t | w( D) y)e (k )t>

( tket —1kct>
( zk:ct zkct)

= 27m0(—t) cos(kct)

g12(ky, ky, t) = %9(_15) (eikct_eikct>

 2mp(ky +iky)
B ck

:>911(k’ ]{7 t —7T9

0(—t) sin(kct)
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=

X

Figure 2.3: Introducing polar coordinates to find G (x, ).

1 .
= Gu(z,y,t) =33 / dk, dk,2m0(—t) cos(kct)e! ke k)
‘9( ) ik-x
42 / dk cos kcte

We introduce polar coordinates with axis centered on x like on Figure 2.3 where r = ||x]],
k= |[k]]

dk cos(kct)e ikr cos 0

9( o ikr cos O
= 1 (9t de dk sin(kct)e

_ ik(rcosf+ct)  _ik(rcosf—ct)
at/ de/ (o .

= 0(_2?)8,5/0 dG( (rcosf + ct) — I(rcosf — ct))

8m2ic

:>G11Xt d0

where .
I(y) = / dke™v
0

This is a divergent integral. We introduce the regularized integral
I.(y) :/ dke® e 2 >
0

and observe that
I(y) = lim I.(y)

e—0
Evidently ‘
1 ik (y+ie) *__t

-[5 = .
) i(y + ic) o y+tie
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Defining
27

JF = / d@I.(rcosf £ ct)
0

we have then

2 .
i
JE= [ df
c /0 rcosf £ ct + i

—id 1
L5 cosf = 5(2—1—7:_1)

z

Let z =¢€?, df =

d
= J= :j{ - &
S z(i(z—kz—l) + ct + ie)

B 7{ 2dz
C Jg, r22 4 2(kct i)z +

where 57 is the unit circle. This integral can be solved using Cauchy. Observe that the
poles of the integrand in the complex plane occur when

p(2) = r2® 4+ 2(£ct +ie)z +r
Observe that

(%t + ic)

p(2) =0 2> +az+1=0, a=
,

Let z1, zo be the two roots of p. Then from the theory of polynomials we have

129 — 1

Let z; = 7“16191, 29 = 1?2
= rreet®1ti2) — 1
1
=r=—, 0=—0
)

Therefore either both poles of the integrand is on S or exactly one pole is inside .S;.

In order to write down formulas for the poles we must choose a branch of the complex
square root. We choose to put the branch cut along the negative real axis.

Let f(z) be the unique square root defined by

f(z) = |z|e’g, where —m<0<7

The other square root corresponding to this branch cut is then —f(2).
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Let us first consider J*. The two poles are

1
= —(c|t| —ic + f(*t? —r?* — &? — 2ic|t|e))
,

1
2y () = ;(c|t\ —ig — f(*t? —r? — &% — 2ic|t|e))

21 (€)

Mathematical analysis show that 2 is inside the unit circle. Let 2T (g) = 23 (¢).
For J_ the two poles are

20 () = =(—c|t| —ic + f(Pt?* — r?* — &% + 2ic|t]e))

2y (8) = =(—c|t| —ie — f(c*t* —r* — &% 4 2ic|t|e))

S|—3 |~

We now find that z; (¢) is inside the unit circle. Let 27 (¢) = z; (¢).
In summary for J= we have exactly one pole inside S; given by

2t (e) = %(C|t| —ie — f(t? —r? — &? — 2iclt|e))
() = %(—c\t! et F(R 12— 2 4 2iclt]e))
Observe that
2rzF(e) + 2(Fet +ie) = F2f(*t? — r? — £ F 2ic|t|e)

Cauchy now give

2
JE = 2mi
c B <$2f(02t2 —r2—eg2F 2ic|t\€)>

B F2me
f(c?t2 —r?2 — 2 F 2ic|t|e)

Because of the presence of the branch cut on the negative real axis the limits of J=
will depend on the sign of c?t? — r2.
i) A2 —r?>0
Then c*t? —r? —e2F 2ic|t|e are on the right halfplane and thus away from the branch
cut.

F2m

—471

JE—

Jr—J —
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i) 2 —r? <0

Then ct? — r? — % F 2ic|t|e are on each side of the branch cut along the negative
real axis.

g 2

3 —> T oo 57
/|02t2 _ 7»2|

JF—J-—0

These two results can be collected into

0(c*t* — r?)

This gives finally the following expression for G,

Jr—J7 — —4mi

b(=t) , 0(t — 1)
RN

Gn(& t) =

Let us next find Gy,

e 2mip(—ky + ik, )0(—t)
5 | dk, dk, e

9(—t)w/ dl_(Sin(kct)Melk'K
4m2c R2 k

AW 27 o0 )
= — O(=t)ip / dQ/ dkk sin(kct)(— sin 6 + i cos §) et os?
0 0

472c

0(—t)i 2 o0 )
= M@/ d9/ dk cos(ket)(— sin 6 + i cos ) e’ «os?
0 0

G12($7 Y, t) =

sin(kct)e!Fe=truy)

42 c2

2 oo oo
_ 6<_t):u at / d6 / dkeik(?‘ cos O+ct) + / dkeik(r cos 0—ct)
87T2C2 0 0 0

(—sinf +icosf)

. 2
_ o( t),uat/ df(—sinf + i cosh) (I(rcos@—i—ct) — I(rcosd —ct))
0

22

where I(y) = [;° dke™v.
The same regularizations as before for G leads to integrals

Jj:—/%de cos@%—isin@»
0 rcosf + ct + i
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: —id 1 1
and z = ¢, df = —— cosf = 5(2—1— z7!) and sinf = 2—(2 —z7h

z i
7{ idz3(z+271) + (2 —271)
S1

z  gr(z+z1) et +ie

Jr =

)

z
=21 ¢ d
! %gl 2y 2(Ect +ic)z +r

The poles inside S; are the same as when we calculated G1;. Cauchy gives

2zt
JE =2mi i27() :
2rzt (e 4 2(£ct + i€))
;( +clt| —ie F f(H2 -1 — 2 F 22’c|t|a)>
F2f (2 —r? — &2 F 2ic|t|e)

= 47

i) A2 —r?>0

2 ct — /22 — r?
T TR — 12
A1 ct — /212 — 2

Jr+ I — —

r 22 — 12

JE—

i) 22 —r*<0

A 2mcti 4 /[Pt —

€

r |c2t? — 12|
L 4 cti + /[P — 17
JoA+ I ———
r |c2t2 — 72|
dm et — /P —1? 22 20
- , c -r
Gia(x,t) = ——9(_75)#8 rover-—
12(X, Su2c2 ¢ 4T cti + \/m 202 .2

A , ct*—ro<0

r |c2t2 — 2|
O(—t)p,, ct — VA — 12
_ Wy NI oy

t
2mc? rvc2t? — r?
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Let us next turn to G; and Ga9y. They solve the system

—04Gag + p(0y — 10,)Ga1 = 6(z — 2")o(y — y')o(t — t')
—GtGgl + I/(ay + Zax)GQQ =0

This system turns into the system for Gy; and G5 if we let x+ — —x, u <> v. Therefore,

(9(—15)V(3 ct — 2 — 2
2mc2 ' /2 — 2
O(—t) . O(c*t* —r?)
2me R — 12

Ggl(g, t) = — (9(02t2 — TQ)

Ga(x,t) =

therefore we finally have

Glx 1) = |G Gm@,tq

Gar(x,t) Ga(x,t)

= 0(—1)9,0(*t? — r?) {qu(é’?% /;q(g_f’tﬂ

where
1
P = (22 2\—1/2
Pl 1) = (2 — [|x]?)

1 ot — /22— |[x||?

2re? ||x|| /28 — x|

q(x,t) =

Let us now consider the following geometry shown on Figure 2.4 S is characterized at
the linear level by u, v and Sg by po, v9. The source is located inside Si x T'. Eventually
we will let R — oo.

Our general integral identity is

/DXde'dy’dt'(A<L (i))*_LTA <z)*)
:/Dd:c’dy’A (;i)* zl—l—/Tdt’/aDdl’ﬂ.B. <Z>*

where the 3-tensor B was described before.
Let us choose A = G and apply the integral identity inside S x T

Our equations are
2 A
L z,y,t)=0
(w) (@9, 1)

LGy ' 2,y,t) = 6(2’ — 2)3(y — y)o(t' — 1)1
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A
t
[ >
f.g#0
TS o Txos,
R TxS TXo0S
I
( o S """"""""" B S >
. _ 0 f_ R

Figure 2.4: Graphical representation of the given scattering problem (2.1). S is charac-
terized at the linear level by u, v and Sg by o, v9. The source is located inside Sg x T

(i) (z,y,1) = /Sdrc’ dy’ <G*(w’,y’,t1,m,y,t) (ZZ) (@', 4 1)
- G* (ZE,, y,7 tO: Y, t) (i) (J’Ja y/a t0)>

- / dt// dlgﬂ(l‘l,y/) ’ B*(x/7y/7t/7x7y7t) ’ <Zz> (Q?l,’y/,t/)
T oS

Assuming as usual that all fields are generated by the source and the fact that we are
using an advanced Green’s function the expressions.

(“”) (1) — — / ar / dign(a',y) - B (2,4t 2, 9.1) - (“") (2,4 1),
(0 T 8s (0 _
(x,y,t) € SxT

7N

where a subscript means that the limit of the quantity is taken from inside the bound-
ary 05 x T. Similarly, for a ”4” meaning the limit is from outside a boundary
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Applying the integral identity to Sg x T we get

(g)) (z,9,t) :/ dz’dy' dt'Go(2",y' 1, 2, y,1) (f) (2,9, 1)
77Z) DxT g
/dt/ dlwn - By («',y', 1, x,y,t)
oS
(1) @)
/dt/ dign - By (', ¢, ', x,y,t)
dSk
<w>_(‘r y t)

We let R — oo for finite 7. Then the last term vanish because B is generating from
matrix elements G;;(2', v/, ', z,y,t) and these goes to the zero as ||z — 2'|| — oo

<S0> (,y,t) =/ da" dy' dt'Go (2", /', ', 2, y, 1) (f) (@', 1)
w R2xT g
/dt/ dlwn - By, («', ¢, t', x,y,t)
as

'(¢)+(‘I y',t)
_ (sD) © -
(/)dt /85 dn - Be, (2 ' 2,9, 1)
"\ +(5U )

A index 70” on B refer to the fact that G and as a consequence B depends on pu, v,
whose values in Sg x T are g, V.
From the definition of G we have

G(xla yla tla x,Y, t) = e(t - t/)aUg(:E, — T, y/ -, U)
U=t'—t
= —0(t —t)og(a" — 2,y —y,t' = 1)
and since B is constructed from the matrix elements of G we have

Byt x,y,t) =0t — )00,y , ¥, z,y,1)
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for some 3-tensor b.

/dt’/ diyn(2',y") - B (2,9, t' 2, y,t)
T as

(5) @

t1
:/ dlx@(x',y')-/ dt'0(t —tob(x', y' , t', x,y,t)
a5

to
’ <ZIZ> (Jfl7yl,t/>
:/ dlx’ﬂ(xlay/)
as
t1
. / at' (D00t — )bl o' ¥, y,0)) = OOt — )bl o', ¥ 2,9, 1))
to

: (22) (I/ay/7t/)
t
5 / ar / dlw(m’,y’)-b(a:',y’,t’,x,y,t)-(@) (@', o/ ¥)
to as WP _

t1
—/ dleﬂ(w',y')-/ di'o(t —thb(a',y', ', x,y,t) - <¢) («, ', 1)
as to V)

But b contains 6(c*(t — t')> — ||z — 2'||*) = 0 when ¢t = ¢’ then last term is zero.

t1
) / a / dlx@(x’,y’)-b(az’,y’,t’,x,y,w-(90) (@3, 1)
t as (0 _

Therefore, the fundamental integral identities can be written as

CZ) / at' /8 Sdlen b(x', ', x, 1)

<¢> x,t), &,t)eSxT

(Z)(z,t):( ) (x, ) +@t/ dt/asdlx/n bo(x, %, 1)

. @f)_ x,t), X, t)e(RxS)xT

(2.8)

We must now let x approach 05 from inside and outside S.
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Figure 2.5: Denote a generic point in S by x”.

Denote a generic point in S by x”

Thus
(90) / ar’ / dlen(x) - b(x, ¢, %', 1)
(0 s
e
Let now x be a point on 95 (Figure 2.5).
The integrand will be a singular function of x’ as x — x” but this singularity is weak
and we will see that all expressions we encounter will be well defined as improper integrals.

From how this limiting procedure is implied whenever we write integrals. The bound-
ary integral equations are thus

(z) /dt /asdl n(x) - bt x, 1)
(w) 1)
(z) (x,1) = (ZZ) (x.1) +at/ dt’/asdlx/n ) - bo(x, ¥, x, )

' (i) (¥, t), (xt)€dSxT

@
(G

<:Z> )= (22)+ (x,t), (X.,t)easxT

We will in the following assume that 05 is smooth clearly the generalization to piece-
wise smooth is simple.

where we have assumed that [ } is continuous across 05 x T
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If 0S = U ,¢; where each ¢; is smooth we merely write

We will mainly consider simple boundaries in our calculations and therefore assume
that the boundary is parametrized by some known function ~(s)

v :[a,b) = R*, 7y([a,b]) =08

Define

¢ b
U(s,t) = UD(s,t) + 8t/ dt'/ ds'F(s',t',s,t) - U(s', 1)
to a

We must now discretize our system.
Introduce

a;=a+1iAs, 1=0,....,n, As=

I; = o1, o

Also introduce

Then

t n
U.(t) = —6t/ dt’Z/ ds'A;(s', 1) - U(s, 1)
to j=1Y0;

Uy(t) =U"(t)

¢ n
—i—@t/ dt’Z/ ds'B;(s',t',t) - U(s',t)
to j=1 Ij
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If n is large enough As is so small that U(s’,t’) vary little over I; and can therefore

to a good approximation be taken outside the integral

Zat/ dt' My (¢, t) - U, (t')

Uy(t) = U (¢)

1
n

+Z@t/dtN ) - U(t)
where
My(t', 1) = / ds' Ai(s ¥ 1)
I;

Nij(t/,t):/ dS/Bi(S/,t,,t>
I

J

Let us next introduce a timegrid t, = to + kAt, k=1,2, ...

Let Jp = [ty_1,tx] and let (0;)x be a discrete approximation to the derivative at ty.

Also define ' '
Ul =u,t,), UM =U")

2

then

u' at Z/dtM t',t) - U;(t)
J;

U»:U(.
+Zat Z/dt’N (t' 1) - U, ()

Clean up hese expressions by defining

M{;f = / dt’' M (', t,)
Ji

:/dt’/ ds"A;(s', ', ty)
Ji I;

J

N = /J dt' Ny (', tx)
l

—/dt'/ ds'B;(s',t', ty)
7y g

J
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Then

U =—(0ry_ Y Mf U
=1 j=1
k

z)k’ 4 (O Z ZNz@l 'Qé

=1 j=1

where we assume U, (t') vary little over the small interval Jj.
Recall that the integrands have a term of the type

(2t =) = llr(s) = a(sHIH) ™2

Then when computing the matrix elements we are lead to integrals of the type

/J ar / a5 (At — ) — |ly(s) — ()22 o)
llns) = 2(IP)

Different approximations for the matrix elements must be used depending on whether the
integrand is singular inside J; x I; or not.
If it is not singular we can simply use the approximation

lejl ~ AtAsA;(sj, b, tr)

NMF ~ AtAsB;(s;, 1t (2:10)
ig ™~ AGHERIS k)
If the integrand is singular we must use different approximating formulas depending on
whether (i, k) = (j,1) or not and what the geometry of the singularity look at.

We can use an automatic test to find (7,1) for the given (i, k) for which integrand (2.9)
has singularity. For example we can use Python3 function:

def test (i,k):
singlist = []
for j in range(1l,np.size(s)):
for 1 in range(l,np.size(t)):
try:
INT = quad(lambda tt:
quad (lambda ss:
Hvs (cxx2x(t [k]—tt)**2
— (gamma(s[i])— gamma(ss))*%2)/
np.sqrt (cx*x2x(t [k]—tt)**2
— (gamma(s[i]) — gamma(ss))x*2),



2.1.

where tt is ¢/, ss is s/, gamma is ¥(s), quad (func,a,b)

THE EOS FORMULATION

S[j—l],S[j], epsabs = ds,
t[1—1], t[1],epsabs = dt,

except ZeroDivisionError:
singlist .append ([np.nan,j,1])
#Diviston by zero error
if (INT[0] = np.inf):
singlist .append ([np.inf  j 1])
#Infinity result of integration
return singlist

from scipy.integrate library, Hvs (x) — Heaviside function:

Hvs =

lambda x: 0.5%(np.sign(x)+1)
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limit = 10)[0],
limit = 2)

— a Python3 function to integrate

Function test(i,k) returns list of pairs (j,1) where integral has singularity. It is not
fast, but it can be improved by using another integration function, another programming
language or more powerful processor.
Let us first assume that there is a singularity in I; x J; and (¢, k) # (j,1).
Introduce new coordinates

=t — nAt
s =s;+EAs

where 7 € [0,1], £ € [-3, 3]. Then

Aty —1)* = [la(s:) — 3]

~ Atk — 1) = [1(si) — v (s)|* + 26 (8 — 1) Aty

+27(s;)(2(si) — 7(55))Asg
= CL?} + bkl?’] + cijf

where
= Aty — t1)? — ||y(s:) — 2 (s7)|?
bkl = 263 (ty — 1) At # 0
= 27'(s;)(2(s:) — 2(s5)) As
then

= —AtAs / dn / 1 dé( ak’+bk’n+cij§)f%

9(“?} + b0+ ¢5€)

(2.11)

(2.12)

(2.13)

(2.14)
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1 A
0
1 0 g 1
2 2

Figure 2.6: Geometry of the case when (7, k) # (j,1) and the integrand (2.9) has singularity
inside [; x Jj.

Let us simplify the notation by removing the indices i, j, k, [ that are constant during
this derivation.
Let us consider the case represented on Figure 2.6

a = —AtAs/ dndﬁ(a—l—bn—%cﬁ)’%
A

This is an 2D improper integral since a + bn+ c£ = 0 on the lover boundary of A, but the
improper integral converge as we will see.
The lower boundary is given by

then

1 1

o= —AtAs/2 dg/ dnla + by + )
-1 n(&)

1

2 2 )
_ —EAtAs/Q d€(a + by + c€)3

n(€)

W= o=

- —%AtAs/ dé(a+ b+ c€)? (2.15)

N|=

1
2

4 3
= —%AtAs(a + b+ cf)

4AtAS 1 3 1 3
= 3 ((a+b—§c) —(a—i—b—i-éc))

VI

Let us next look at the situation there is a singularity in I; x J; and (i, k) = (7,1).
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1
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Figure 2.7: Geometry of the case when (7, k) = (j,[) and the integrand (2.9) has singularity
inside I; x J.

Using the same variables as before we now get

Aty — 1) = |Iv(si) — y(s)]]?

~ AN — ||y (s:)]]PAs?E?

Il
cAt

(2.16)
= AL - ale?),

Dropping indices we are lead to an integral

/ an / aE(n? — a%€2) 20072 — a?¢?) (2.17)

Let us consider the geometric situation shown on Figure 2.7
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As 1
a=—— dﬁdf( a’¢?) "z
:_2;“ d§/ dn(n %

n=afxr, dn=aldr

M\»—‘

2A
:——S d{/ de(z? — 1)

2A
-2 d§ In(z + Va2 —

¢ Jo
2As 2 1 1

:—2%8 d§1n< 1+m>

0

_ %8s 2d§<—lna—ln£+ln(1+\/1—a2§2)>

1
ag

(2.18)

¢ Jo
20s /1 s
:—T<—§lna—(fln§—£)o+/ dfln(1+\/1—a2§2)>
0
2A0s /1 . a1 a 1 a?

Equations (2.1) restricted to the S together with the integral identities (2.8) define
the EOS formulation for the given 2D scattering problem.



Conclusion

In this thesis work we discussed two 1D scattering problems and one 2D scattering prob-
lem. For every problem was constructed EOS formulation. For both of the 1D scattering
problems were made numerical implementation using Python3. Before numerical solu-
tion of toy models we solved test problem to choose more stable and accurate numerical
method. The test problem was solved by using several methods: Central Finite Difference
method, Modified Euler method, Lax-Wendroff method and by using ODE solver odeint
from library for scientific calculations of Python3.

We found that in every solution of test problem by using different methods has an
artefact in solution for p(x,t) on the left boundary of the domain. Possibly oscillations
of solutions for ¢(x,t) and j(z,t) on the left boundary appeared because of this artefact
in p(x,t). To understand the nature of this artefact and to fix this problem we need to
do additional research.

This work doesn’t comprise numerical implementation of 2D scattering problem, so
this is also subject for the futher research.
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Appendix A

Test problem. Python3 code

import numpy as np

import scipy as sp

from scipy import integrate

from scipy.integrate import odeint

dt = 0.01 #time step
dx = 0.05 #space step

T = 12 #time mazimum
X = 3 #boundary wvalue
c = 2

alpha = 0.1

gamma = 0.1

b = 10

t = np.linspace (0,T,T/dt+1)
x = np.linspace(—=X,X,2xX/dx + 2)

exactphi = lambda t,x: np.exp(—bx*x(x + 2%t — 7)%%2)
exactjf = lambda t,x: 0.1l%np.exp(—bx*(x + 2%t — 7)%x%2)
exactrho = lambda t,x: —0.lxnp.exp(—bx(x + 2%t — 7)xx%2)

jl1 = lambda t,x: ((20%c — 40)*(x + 2xt — 7) — 0.1)
«np.exp(—10%(x + 2%t —7)%x2)

j2 = lambda t,x: 2%(x 4+ 2%t — 7)xnp.exp(—10%(x + 2xt —7)%x*2)

j3 = lambda t,x: (—4x%(x + 2%t — 7) — alpha + 0.lxgamma)
s«np.exp(—10%(x + 2%t —7)%x2)

#Central Finite Difference method
CDphi = [[0]#np.size(x) for i in range(np.size(t))]
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CDrho = [[0]*np.size(x) for i in range(np.size(t))]

CDj

for

for

for

t
= [[0]*np.size(x) for i in range(np.size(t))]

i in range(np.size(t)):

CDphi[i1][0] = exactphi(t[i],x[0])
CDphi[i][—1] = exactphi(t[i],x[—1])
j in range(np.size(x)):

CDphi[0][§] = exactphi(t[0],x[j])
CDphi[1][j] = exactphi(t[1],x[j])
CDrho[0][j] = exactrho(t[0],x[j])
CDrho[1][j] = exactrho(t[1],x[j])
CDj[0][}] = exactif(t[0] ,x[i])
CDj[1][1] = exactif(t[1] x[j])

i in range(1l,np.size(t)—1):

for j in range(1l,np.size(x)—1):
CDphi[i+1][j] = cxdt/dx*(CDphi[i][j+1]
CDphi[ i ][ 1))
2dt(j1 (¢ [i].x[j]) + CDj[i][j])
CDphi[i—1][]]
—dt /dx*(CDj[i]]j+1]
— Dl [§-1]) + 2edexj2 (t[i],x[j])
+ CDrho[i—1][j]
CDj[i+1][j] = 2+dtx(alphaxCDphi[i]][]]
— gammaxCDj[i][]]
+ 33 (t[i],x[j]))+ CDj[i-1][j]

i+ + 11

CDrho[i+1][j]

j=0
CDrho[i+1][j] = —dt/dx*(—=3«CDj[i][j] + 4*CDj[i][j+1]
— CDj[i][j+2]) + CDrho[i—1][j]
+ 2xdtxj2(t[i],x[j])
CDj[i+1][j] = 2«dt*(alphaxCDphi[i][j] — gammaxCDj[i][]]
+ 33 (t[i],x[j])) + CDj[i—1][j]

j=1
CDrho[i+41][j] = dt/dxx(—=3xCDj[i][]j] + 4xCDj[i][]j—1]
— CDj[i][j-2]) + CDrho[i—1][j]
+ 2xedtxj2 (t[i],x[j])
CDj[i+1][j] = 2«dt«(alphaxCDphi[i][j] — gammaxCDj[i][]]
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+§3(t[i],x[j])) + CDj[i—1][j]

#Lax—Wendroff method

LWphi = [[0]*np.size(x) for i in range(np.size(t))]
LWrho = [[0]*np.size(x) for i in range(np.size(t))]
LWj = [[0]*np.size(x) for i in range(np.size(t))]

for i in range(np.size(x)):

LWrho[0][i] = exactrho(0,x[i])

LWj[0][i] = exactjf(0,x[i])

LWphi[0][i] = exactphi(0,x[i])
jl.dt = lambda t,x: 0.5/dt=(j1(t+dt,x) — j1(t—dt,x))
jl_dx = lambda t,x: 0.5/dx*(jl(t,x+dx) — jl(t,x—dx))
j2_dt = lambda t,x: 0.5/dtx(j2(t+dt,x) — j2(t—dt,x))
j2_.dx = lambda t,x: 0.5/dxx(j2(t,x+dx) — j2(t,x—dx))
j3_dx = lambda t,x: 0.5/dx*(j3(t,x+dx) — j3(t,x—dx))

for i in range(l,np.size(t)):
LWphi[i][—1] = exactphi(t][i
LWphi[i][0] = exactphi(t][i

for i in range(np.size(t)—1):
for j in range(1l,np.size(x)—1):

LWphi[i+1][j] = LWphi[i][j] + dt*(0.5%c/dx+(LWphi[i][j+1]
LWphi[i][j—1]) + LWj[i][]j]

JL(t[i],x[j]))+ 0.5%x(dt«*2)*(((c/dx)**2)«(LWphi[i][j+1]
2«LWphi[i][j] + LWphi[i][j—1]) + cxjldx(t[i],x[j])
0.5%c/dx*(LWj[i][j+1]— LWj[i][j—1])

alphaxLWphi[i][j] — gamma*LWJ[ 1131

3D+ a3l x[i]))

LWrho[i+1][j] = LWrho[i][j] + dt*(—0.5/dx*(LWj[i][j+1]

— LWiliJ[j—1]) + j2(t[i],x[j]))

+ 0.5x(dt**2)x(—alpha*0.5/dx*(LWphi[i][j+1] — LWphi[i][j—1])
+ 0.5*%gamma/dx*(LWj[i][j+1] — LWj[i ])[; 1])

— J3dx(e[i],x[j]) + j2-de(e[i],x[]]
j] + 2xdtx(alphaxLWphi[i][]j]
[i],x[i]))

+ L+

j
Jlde (e [i], x| ]

LWj[i+1][j] = LWj[i —1][
— gammaxLWi[1][j]+ j3(t



74

APPENDIX A. TEST PROBLEM. PYTHON3 CODE

i =1

LWjli+1][j] = LWj[i—1][j] + 2+dt=*(alphaxLWphi|[i][]]

— gammaxLWj[i][j]+ j3(t[i],x[j]))

LWrho[i+1][j] = LWrho[i][j] + dt*(—0.5/dx*(3*LWj[i][j]
— 4xLWj[i][j—1] + LWj[i][j—=2]) + j2(t[i].x[j]))

(3*Lth1[ 117]
—2])

2]) = i3-dx(t[i],x[j])

—- o

— %
'_‘*

— 4xLWphi[i][j—1] + LWphi
+ 0.5%gamma/dx*(3*LWj[i]]|
— 4xLWj[i][j—1] + LWj[i]][]
+j2-de(t[i],x[j]))

i=0
LWj[i+1](j] = LWj[i —1]|
— gammaxLWj [ 1] [j]+ j3 (¢

|

]
J
J
+ 0.5%(dt**2)*(—alpha*0.5/
[
J
J

j] + 2+xdtx(alphaxLWphi[i][]]
[i],x0i 1))

LWrho[i+41][j] = LWrho[i][j] 4+ dt*(—0.5/dx*(—3*LWj[i][]]
FaWi][+1) = LWILE[G+2]) + j2(e[i],x1i]))

— 0.5%(dt**2)x(—alpha*0.5/dx*(—3*xLWphi[i]][]]

+ 4«LWphi[i]|[j+1] — LWphi[i][j+2])

+ 0.5xgamma/dx*(—3«xLWj[1i][]]

+ A LWj[1 ][ +1] — LWj[i][j+2]) — j3-dx(t[i],x[]j])
+g2.dt(t[i],x[j]))

#Modified Fuler method

MEj =

for i in range

for

for

MEphi = [[0]*np.size(x) for i in range(np.size(t))]
MErho = [[0]*np.size(x) for i in range(np.size(t))]
)

[[0]*np.size(x) for i in range(np.size(t))]

(np.size(x)):
MErho [0][i] = exactrho(0,x[i])
MEj[0][i] = exactjf(0,x[i])

MEphi [0][i] = exactphi(0,x[i])

i in range(1l,np.size(t)):
MEphi[i][—1] = exactphi(t]
MEphi[i][0] = exactphi(t][i

i],x[=1])
], x[0])

i in range(np.size(t)—1):
for j in range(l,np.size(x)—1):



K1 = dt=(0. 5*c/dx*(MEph1[ J[j+1] — MEphi[i][j—1])
+ MEj[i][j] + j1(t[i],x[j]))

K2 = dt=*(0. 5*c/dx*(MEph1[ J[j+1] — MEphi[i][j—1])
+MEJ[1HJ] JL(efi+1],x[i]))

MEphi[i+1][j] = MEphi[i][j] + 0.5%(KI+K2)

Kl = dt*(—-0.5/dx*(MEj[i][j+1] — MEj[i][j—1])
+g2(t[i],x[j]))
K2 = dtx(— O5/dX*(MEJ[ 1Tj+1] — MEj[i][j—1])

+g2(e[i+1],x[j]))
MErho[i+1][j] = MErho[i][j] + 0.5x%(K1+K2)

K1 = dtx(alphaxMEphi[i][]j] — gammaxMEj[i]][]]
+ 33 (t[i],x[j]))

K2 = dtx(alphaxMEphi[i][j] — gammax(MEj[i][j]+K1)
+ 33 (t[i+1],x[j]))

MEj[i+1][j] = MEj[i][j] + 0.5%(KLK2)

j = -1

K1 = dtx(alphaxMEphi[i][j] — gammaxMEj[i][]]
+ 33 (t[i],x[j]))

K2 = dtx(alphaxMEphi[i][]j] — gammax(MEj[i][j]+K1)
+ 33 (tli+1],x[j]))

MEj[i+1][j] = MEj[i][j] + 0.5%(K1+K2)

Kl = dt*(—0.5/dx*(3«MEj[i][j] — 4«MEj[i][j—1]
+ MEj[1][j—=2]) + j2(t[i],x[j]))

K2 = dt*(—0.5/dx*(3«MEj[i][j] — 4«MEj[i]][]—1]
+ MEj[i][j—2]) + j2(t[i+1],x[j]))

MErho[i+1][j] = MEtho[i][j] + 0.5%(K1+K2)

J =20

Kl = dt*(alpha*MEphi[i][j] — gammaxMEj[i][]]
+ 33 (t[i],x[i]))

K2 = dtx(alphaxMEphi[i][j] — gammax(MEj[i][j]+K1)
+ 33 (t[i+1],x[j]))

MEj[i+1][j] = MEj[i][j] + 0.5%(KI+K2)

K1 = dt*(—0.5/dxx(—3«MEj[i][]] +
]

4xMEj[1]]j+1]
— MEj[i][j+2]) + j2(t[i],x[i]))
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— MEJ[lHJ+2]) + j2(t[i
MErho[i+1][j] = MErho[i]]]

#0ODE solver

ODEphi = [[0]*np.size(x) for i in range(np.size(t))]
ODErho = [[0]*np.size(x) for i in range(np.size(t))]
ODEj = [[0]*np.size(x) for i in range(np.size(t))]

Nx = np.size (x)
M= [[0]%(Nx—2) for i in range(Nx—2)]
for i in range(1,Nx—2):

M[i—1][i] = 0.5/dx

M[i][i—-1] =— 0.5/dx

for i in range(np.size(x)):
ODErho[0][i] = exactrho(0,x[i])
ODEj[0][i] = exactjf(0,x[i])
ODEphi [0][i] = exactphi(0,x[i])

for i in range(1l,np.size(t)):

ODEphi[i][—1] = exactphi(t[i],x[—1])

ODEphi[i][0] = exactphi(t[i],x[0])
def f(y,t):

Y =y

derives = []

derives.extend ([0.5xc/dx*(Y[1] — exactphi(t,x[0]))
+ Y[2+«Nx—1] + j1(t,x[1])])
for i in range(1,Nx—2):
derives.extend ([c#M[1][0]*Y[0] + Y[2*Nx—1+1i |
£t (e, x[i+1))])
for j in range(1,Nx—2):
derives[i] = derives[i] + cxM[1][]j]*Y][]]

derives[—1] = derives[—1] + 0.5%c/dx*exactphi(t,x[—1])

derives.extend ([ —0.5/dx*(—3*Y[2%Nx—2]
+ 4xY[2xNx—1] — Y[2%Nx])
+32(t,x[0])])



derives.extend ([ —0.5%(Y[2xNx] — Y[2xNx—2])/dx +
j2(t,x[1])])
for i in range(1,Nx—2):
derives.extend ([-M[1][0]*Y[2xNx—2+i]| +
j2(t,x[1+1])])
for j in range(1,Nx—2):
derives [Nxt+i—1] = derives [Nxti —1]
— M[i][j]*Y[j—142«Nx]

)
derives|[—1] = derives|[—1] — 0.5/dx*xY[—1]
derives.extend ([—0.5/dxx(3*Y[—1] — 4%xY[—2] + Y[-3])
+J2(t,x[=1])])

derives.extend ([alphaxexactphi(t,x[0]) — gammaxY[2xNx—2]
+ J3(t,x[0])])

for i in range(Nx—1):

derives.extend ([alphaxY[i] — gammaxY[i+2xNx—1]
+§3(t,x[1+1])])

derives.extend ([alphaxexactphi(t,x[—1]) — gammaxY|—1]
+ j3(t,x[—1])])

return derives

#Initial values
= ODEphi[0][1: —1]+ODErho[0]+ODE; 0]

psoln = odeint (f, y0, t)

for i in range(np.size(t)):
for j in range(1,Nx—1):

ODEphi[i][j] = psoln[i][j—1]
for j in range(Nx):
ODErho[i][j] = psoln[i][j+Nx—2]

ODEj[i][j] = psoln[i][j+Nxx2—-2]
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Appendix B

The first toy model. Python3 code

import numpy as np
Hvs = lambda t: 0.5x(np.sign(t)+1) #Heaviside function

a0 = —3 #left boundary
al = 3 #right boundary
dx = 0.05 # space step
dt = 0.01 # time step

T = 12 # Time mazximum
alpha = 0.1
beta = 0.1

gamma = 0.1

t = np.linspace (0,T,T/dt+1)
x = np.linspace(a0,al,(al—a0)/dx+2)

cl = 1.4
c2 = 2

#source function

a = 2
b = 10
c = 10
x0 = 10
t0 = 4

js = lambda x,t: a*np.exp(—b*(x—x0)**2)*np.exp(—cx*(t—t0)=**2)
phi = [[0]*np.size(x) for i in range(np.size(t))]
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rho = [[0]*np.size(x) for i in range(np.size(t))]
jf = [[0]*np.size(x) for i in range(np.size(t))]
#integration formula for the right boundary
xnew = np.linspace (3,1000,997/dx+1)
for i in range(1l,np.size(t)):
phi[i][—1] = 1/c2xintegrate.simps(Hvs(al—xnew+c2xt[i])
xjs (xnew,t[i]—(xnew — al)/c2), xnew,dx)

for i in range(np.size(t)—1):
for j in range(1l,np.size(x)— 1)
phi[i4+1][j] = phi[i][j] + dtx (0 S5xcl/dxx+(phi[i][j+1]
— phi[i][j—1]) + jf[i][] ]) 5x(dt*x2)
#(((cl/dx)*+2)«(phi[i][j+1]- 2*ph1[ il
+ phi[i][j—1])
+ 0.5xcl/dxx(jE[1][j+1]— jE[i][j—1])
+ (alpha — betaxrho[i][j])*phi[i][]]
— gammaxjf [1][j])

rho[i+41][j] = rho[i][j] + dt*(—0.5/dx*(jf[i][]j+1]
tfilli—1]))
0.5%x(dt«*2)x(betaxphi[i][]j]*0.5/dx*(rho[i][]j+1]
rho[1][j—1])

(alpha — betasxrho[i][j])*0.5/dxx(phi[i]]j+1]
phi[i][j—1])

0.5%gamma/dx*(jf[1][j+1] — jf[i][j—1]))

+ L+

S+ ]

= jf[i—1][j] + 2xdt*((alpha
— betaxrho[i]][]

j])«phi[i][j] — gammaxjf[1][]j])

j:—l
PO+ ] = JE[i=1][j] + 2«dt+((alpha

— betaxrho[i][j])«phi[i][]]

— gammax jf [1][j])

rho[i+1][j] = rho[i][]j] 4+ dt*(—=0.5/dx*(3*jf[i][]j]
— Axjf ][] 1]

+ jf[i][j—=2]))+ 0.5x(dt«*2)x(betaxphi[i][]j]

*0. 5/dx>x<(3* ho[i][j]

i

j —1] + rho[i][j—2]) — (alpha
- beta*rho[ 113 ])
0.5 /dx*(3xphi[i][j]— 4xphi[i][j—1] + phi[i]][]—2])



+ 0.5xgamma/dx*(3xjf[i][j] — 4«jf[i][j—1] + jf[i][j—2]))

i =0
jE[1+1][j] = jf[i—1][j] + 2xdt=*((alpha
— betaxrho[i][j])«phi[i][]]

— gammax jf [1][]])

ti = int ((t[i+1] — 1/clx(al—a0))/dt)

phi[i+1][j] = Hvs(a0—al+clxt[i+1])*phi[ti][—1] +
1/clxdx*((Hvs(clst[i+1])*jf[1+1][0]

+ Hvs(a0—al+clst[i+1])*jf[int ((t[i+1]

— 1/cl*(al—a0))/dt)][—1])/2

+ np.sum(Hvs(a0—x[k|4+cl«t [i+1])*jf [int ((t[i+1]

— 1/elx(x[K]—a0))/dt)] K]

for k in range(1,np.size(x))))

rho[i+1][j] = rho[i][j] 4+ dt*(—0.5/dx*(=3*jf[1][]]
+ oA jf[i][j41]

— Jf[i][j+2]))+ 0.5%(dt=**2)*(betaxphi[i][]j]
%0.5/dx*(—=3*rho[i][j] + 4*xrho[i][j+1]— rho[i]]
— (alpha — betaxrho[i][]j])*0.5/dx*(=3*«phi[i]][]
+ 4xphili][j+1] — phi[i][j+2]) + 0.5+gamma/dx
w(~3eit[i][]]

FasjE[E] [+ GE[1)[j+2])

i’+2])
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Appendix C

The second toy model. Python3 code

import numpy as np
Hvs = lambda t: 0.5%(np.sign(t)+1) #Heaviside function

def ind(i):
if 1<0:
return (0)
else:
return (i)

a0 = =3 #left boundary
al = 3 #right boundary
dx = 0.05 # space step
dt = 0.01 # time step
T = 12 # Time maximum

alpha = 0.1
beta = 0.1
gamma = 0.1
t = np.linspace (0,T,T/dt+1)

x = np.linspace(a0,al,(al—a0)/dx+2)

Nx = np.size (x)
Nt = np.size (t)

ml = 1.4
m2 = 2
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nl =1
n2 =1
cl = np.sqrt (ml*nl)
c2 = np.sqrt (m2+n2)

#source function

a = 2
b = 10
c = 10
x0 = 6
t0 = 4

js = lambda x,t: asnp.exp(—b*(x—x0)**2)*np.exp(—cx*(t—t0)=**2)

phi = [[0]*np.size(x) for i in range(np.size(t))]
psi = [[0]*np.size(x) for i in range(np.size(t))]
phi_i = [0]*np.size(t)
psi_i = [0]xnp.size(t)
rho = [[0]*np.size(x) for i in range(np.size(t))]
jf = [[0]*np.size(x) for i in range(np.size(t))]

xnew = np.linspace(al,1000,(1000—al)/dx+1)

for i in range(1,np.size(t)):
phi_i[i] = 0.5/c2*integrate.simps(Hvs(np.sign (c2x*t[1i]
— (xnew — al)))xjs(xnew,t[i]—(xnew — al)/c2),xnew,dx)
psi_i[i] = n2/c2xphi_i[i]

A0 = np.array ([[cl4+c2, ml-m2],[nl-n2,cl4+c2]])
Al = np.array ([[cl4+c2, m2-ml] ,[n2-nl,cl4+c2]])
AOs = np.array ([[cl,ml],[nl,cl]])

Als = np.array([[cl,—ml},[—nl cl]])

for i in range(1,Nt—1):
for j in range(1,Nx—1):

phi[i+1][j] = phi[i] j]u dt+(0.5%ml/dx*(psi[i][j+1]

[]]
— psi[i][j—1]) + jE[i][j])
+ 0.5%(dt**2)x(((cl/dx)**2)x(phi[i][]j+1]
— 2xphi[i][j] + phili][j—1])
+ (alpha — betaxrho[i][j])*phi[i][]j] — gammaxjf[i][]j])

psi[i4+1][j] = psi[i]][j] + dt*(0.5%nl/dx
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j+1]

rho[i+1][j] = rho[i][j] + dt*(—0.5/dx=*(jf[i][j+1]
— Jtlilli—-1]))

+ 0.5%(dt**2)x(betaxphi[i][j]*0.5/dxx(rho[i]]j+1]
— rho[i][j—1])

— (alpha — betaxrho[i][j])*0.5/dx*(phi[i][j+1]

— phil[i][j—1])

+ 0.5%gamma/dx*(jf[1][j+1] — jf[i][j—1]))

jf[i+1][j] = 2xdt * (alpha — betaxrho[i][]])
«phi[i][]]
— 2xdtxgammax jf [i][j] + jf[i—1][j]

i =1
jf[i+1][j] = 2xdt*(alpha — betaxrho[i][]j])*phi[i]]j]
— 2xdtxgammax jf [1][j] + ji[i—1][]

rho[i+1][j] = rho[i][]j] + dt*x(—=0.5/dx*(3*jf[i][]]

— Axjf[1][j—1]

+ jf[i][j—=2]))+ 0.5x(dt**2)*(betaxphi[i][j]*0.5/dx
#(3xrho[i][]]

— 4dxrho[i]]j—1] + rho[i][j—2]) — (alpha

— betaxrho[i][j])*0.5/dx*(3xphi[i][j]— 4*phi[i][]—1]

+ phl[ 11i—2]) + 0.5xgamma/dx*(3xjf[i][j] — 4*=jf[i][j—1]

+ f[i][j-2]))

INT1 = dx*(0.5%(Hvs(clxt[i+1] — (al—a0))
«jf [ind (int ((t[i+1]
— (al=a0)/cl)/dt))][0] + Hvs(clxt[i+1])xjf[i+1]]
+ np.sum(Hvs(clxt[i4+1] —

)1 [k]

}
— (al=x[k])/cl)/dt))][k

INT11 = 1/cl*(np.dot(Als,[INT1,0]))
INT12 = Hvs(clxt[i+1] — (al—a0))
«np . dot(—Als, [ phi[ind (int ((t[i+1]

—1])
(al — x[k]))*jf[ind(int ((t[i+1]
for k in range(1,Nx—1)))
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— (al—=a0)/cl)/dt))][0],psi[ind(int ((t][i+1]
— (al=a0)/cl)/dt))][0]])

Bl = INT114+INT12+42%c2*np. array ([ phi_i[i+1],psi-i[i+1]])
phi[i+1][—1],psi[i+1][—1] = np.linalg.solve(Al,B1)
] =20

jf[i+1][j] = 2xdt*(alpha — betaxrho[i][]j])*phi[i]][]]
— 2xdtxgammaxjf [1][j] + jf[i—1][]]

rho[i+1][j] = rho[i][j] 4+ dt*(—0.5/dx*(=3*jf[i][]]

+ 4 jf[i]][j+ 1]

— jf[i][j+2]))+ 0.5%(dt*x2)*(betaxphi[i][]j]*0.5/dx
A(~3srholi][]]

+ 4xrho [1][]j+1] — rho[i][j+2]) — (alpha

— betaxrho[i][j])*0.5/dxx(—=3xphi[i][j]+ 4*phi[i]]j+1]
— phi[i][j+2]) + 0.5*xgamma/dx*(—3*jf[i][]]

b a4 JE[i]]§+2)))

INTO = dx*(0.5%(Hvs(clxt[i4+1])*«jf[i4+1][0] + Hvs(clxt[i+1]
- (al—aO))*Jf[lnd(lnt(( [i+1] — (al—a0)/cl)/dt))][—1])

+ np.sum(Hvs(clxt[i+1] — (x[k] — a0))*jf[ind (int ((t[i+1]
— (x[k]—a0)/cl)/dt))][k] for k in range(1l,Nx—1)))

INTOL = 1/cl(np.dot (A0s,[INT0,0]))
INT02 = Hvs(cl*t[i+1] — (al—aO))
«np.dot (AOs, [ phi[ind (int ((t[i+1]

— (al—a0)/cl)/dt))][—1],psi[ind (int ((t[i+1]
— (al=a0)/cl)/dt))][ -1]])

B0 = INTOI+INTO02
phi[i+1][0],psi[i+1][0] = np.linalg.solve (A0,B0)
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